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The study of different kinds of organisms. their diversities and relationship among them
1s studied 1n:

QG O5PL 2fad)e), °¢3 W3V TV e 200NN DotomPe (IR0 HotS” OSSN WP,
Options :
Biodiversity
AINISNIAIINGY

Plant taxonomy

S35 SO8Ge80

7 R

Systematics

SRV
3.V

o -Taxonomy
e Q—d’ysn A

4 R

Question Number : 2 Question Id : 7196501922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Which of the following structures of blue green algae are sites for dinitrogen fixation?

0 DO DY IO AT F-IGD FOSH Frrew?
Options :

Akinete

WSACW

Heterocysts

bﬁé‘i}%&n
2.
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Hormogonia

TPG (TR0

Endospores

290€5:003eJ23°eN

Question Number : 3 Question Id : 7196501923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Assertion (A) : Carolius Von Linnaeus popularized the binomial system of nomenclature

and proposed sexual system of classification.

Reason (R) : Sexual reproduction in plants was discovered by Camararius.

QBB (A) : 50P0R P Od) AR & IR ETEI DurCeiid WA SOOI SohH¥ $050Ee
QPR PSPROWD.
5°0e30 (R)  : 30070000 G008 0S8 Sohi¥ Q03BBSR TRy .

The correct option among the following is
& S0l QTS DOGIIE
Options :
(A) 1s true. (R) 1s true and (R) is the correct explanation of (A)

(A) SOOWNIR, (R) L000I& 00050 (A) 30 (R) R0~ 25060

1. ®

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)

(A) S00NIL, (R) 0090058 52 (A) 50 (R) 008 08088 760
2.

(A) 1s true but (R) 1s false
(A) J00NSE R (R) 0000086 5260

3. %

(A) 1s false but (R) is true

(A) V0oWISE W R (R) SOowSe
4. ®

Question Number : 4 Question Id : 7196501924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Agar-agar is extracted from Gelidium and Gracillaria. they belong to which family?

&PS- ©PS B DIPGSD 2OGODHR HHBOKN [PLSBOIL Wok L. BE SN o

5040028 DeddN?

Options :
Chlorophyceae
ST

(L3 =T
Rhodophyceae
SE

2. ¥
Phaeophyceae
2 OIP

3. # =
Cyanophyceae
STOVINIES

4 %

Question Number : 5 Question Id : 7196501925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the correct statements.

A) Pseudoelaters. archegonia on archegoniophore are seen in Marchantia.
B) Wolffia and Salvinia are the smallest plants belonging to pteridophytes.
O) Embryophytic. archegoniate. tracheophytes with underground rhizome is
seen in Divopteris.
D) Algae are primary producers of energy rich compounds for the aquatic
animals.
E) The reduced male gametophyte develops within the microspore.
QOGN TP gaIP gD (0ol
A) B yS OLE, {9 20erIod & yoBon &9 LePIoilo SPT°0R08" Kol BFPESD).
B) GO YOI a0k POIACIR BRI COSDEE Db WSS Sy en.
C)  30wR) W03 6oy R0k Ho TP Samrodn O, ariidy Fany SO
EOrRORS” Jrdadl).
D) S 20DV TIFOT Gole oD CIrHTUR PO GO ST Jderen,
E) E0NE08 Dol QBR DoClr 2esdd DANRGL Ay DRSS D
Options :
A,B.D only
A, B, D 355°¢h%
] % e
A, B. Conly
A. B, C e
) ® ~
C.D. E only
., C.D,Esrgd
B. C, E only
B, C, E 35°¢85
4.8 o

Question Number : 6 Question Id : 7196501926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Fill up the blanks with suitable words respectively.

i  protect the apex of the root, above this i1 1s present with cells of thin walls

and 11 .Thecells iv  to this region are useful for rapid elongation. These

cells gradually differentiateand v .

A dense cytoplasm B. root cap L. meristematic region
D. mature E. proximal
WPPUD VO DEPLes” PO,

I IR SID O200d. AR S 11 O S Dol Twsdwren, il D

DHotrow. A8  iv o Sren T IBHErAS T DETFow. 8D EEE De3So

wold v .
A. \.bﬁa.c% 2805 ECE"QO B. I e C. EPAEIN IR a"oéo
D. 3.)5595)95)@“{11) E. TSN
Options :
1 11 111 v \
B C D A E
], ®
1 11 111 v 4
B C A E D
A
1 11 111 v
s A B D E
3. %
1 i 111 v %
B C A D E
4 R

Question Number : 7 Question Id : 7196501927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the followimg lists:
ListI ListII
A) Sessile, unisexual and neuter flowers arranged 1) Euphorbiaceae
1n acropetal succession
B)  All the flowers are brought to the same height II) Jasmine
due to varied length of pedicle
C) Achlymadeous stalked, unisexual flowers ) Cocos

arranged 1n a cup like structure

D) A three flower cymose inflorescence IV) Cauliflower
&0 808 DETOD BHHGBG.
D% 1 D% 11

A)  SoBEarS, JEOP, Soldy WP YD SFEFS )  CSuPFoyEard
500" $9R08

B) 23808t IO FEHS dotitoo S0 D)  erdS
PO, wS WS Gobrrow

C) 0O S0 o7yt OIS S Syodotiv, III) S5
DEDOERYP YO ©SBS)0braw

D) <P apyen fio 983 R YITeg0 IV) SOp86

The correct match 1s

OGNS &

Options :

A B C D

I I II IV

A B L D

111 IV I II

gcollegedunias

T



Question Number : 8 Question Id : 7196501928 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A) In fig tree, after fertilization whole inflorescence become a fruit.
B) One seeded bits of schizocarpic fruit 1s called nut.

C) In watermelon, terminal buds are modified as stem tendril.

D) Taeniophvllum has chlorophyllous roots and it 1s an epiphyte.

QOGN Tegae g (000uSW.

A) 2B 30K S DLBEERSBS0 YRYDTZVe Bt ¥ DLOrP I8 EHR.
B) a8l S rel"s0)S Do PP Roditiv Do wodreln.

C) Sy I8 §8 306 Potieid HOSKP Erarotsbo Dot

D)  &IOcrderad Stk D 0o SO JE0 Hotrow. B8 2.8 SyENe.

Options :
A, C only
; A, C S
A. D only
A.D Srg
2.
B. C only
¥ B. C &gl
B. D only
. B.D &g
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Question Number : 9 Question Id : 7196501929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the endosperm cell of an angiosperm has 24 chromosomes. the root cell(s) and pollen

grain(s) have how many chromosomes?

@5y 22z ISR @05\)6@1)(:)&5.1)@56 24 §IPFane03) & TR 3 Seren SO0 Dol
Seaed)S §aryooe Qogg oJoth?

Options :

16 and 8

16 005w 8
1. v

16 and 16

16 5003w 16
2. %

8 and 16
- 8 S0adw 16

24 and 8

24 0603w 8
4 R

Question Number : 10 Question Id : 7196501930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the typical angiosperm embryo sac from the following.

&2 Solo eI DOKE W) e L06eS FBND (OIS,
Options :
7 nucleate, 8 celled

7 §o@f3°w. 8 ¥gren

1. %
8 nucleate, 7 celled
a3s. [ So@rseen, 7 Seren
8 nucleate, 8 celled
o 8 Sowrseen, 8 S
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8 nucleate. 6 celled

8 Sogrseen, 6 Seren

Question Number : 11 Question Id : 7196501931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following, based on the number in ascending order.

A) The number of haploid cells present in a flower with 121 megaspore mother
cells development on maturity.

B) The number of pollen grains released 1n a flower showing anemophily.

C) The anther lobes in Hibiscus.

D) The number of mteguments i ovule of polypetalae.

E) The number of PEN chromosome number in maize flower with 48 meiotic

divisions during megasporogenesis.

808 AR, TR VowgHTorP SETE oS 8ty 0.
A) 121 PrORSESTE YRR S DRSO Sl HEZRSAT ol DERSE L Dowg,.
B) 7050 Hoo Do) S50 S 030 o33 Hoo e Do
C)  radiyd Sl Hoviis™s Savyen.
D)  FOBEPS ol ol a§odd BolESTre Dowg.
E) 48 ¥0%55e oeleadun W Sns)elS) mrondedes 288850 Sod eoty PEN
§ I Fean0 Jowg.

Options :

DB . AE

C.DIAEDB

E €. B,A,D

:.J-J
E

AL D E.B

Question Number : 12 Question Id : 7196501932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Identify the plants with the following characters respectively.

I) Herb. pulvinate leaf base, zygomorphic, monodelphous, protandrous.

I0) Herb, hairy stem, exstipulate, axillary inflorescence, persistent calyx, protogynous.

III)  Radical leaves. hypogynous, basifixed anthers. axile placentation. protandrous.
polyembryony.

A) Solanum B) Allium £ Datura D) Arachis

E) Crotalaria  F) Asparagus

QS LEEFO P @) O SEUXS (POoULBW.

I) (P00, B Yo Sod DYHROEW, FEE FRBAWGIW, D¥e00lSE FOTeND, )0

)  ooysw, S0 Soiad, WO dEren, AP DRI, HIFOS S48
DTPEP, Q9 20 PRIrSNS.

) Sro Dol DEPW, ©oksTURB, VOVCIreEd SIT°EP, Jotd @oliargd,
D08t DEIPSND, WETODES.

A) VDNV B) e&salo C) Setrd D) &0°D

E) Seoddale  F) &) 050

Options :
II 111
g B A F
I II 111
D C F
2. %
I I I11
o B C F
I I1 I11
i A B

Question Number : 13 Question Id : 7196501933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
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‘Colchicine’, a mutagen is extracted from which plant?

SPONO B G Y0SGS 235550 0 3%, Dot LDEVD?
Options :

Bulb bearing Liliaceae plant

LHISND EOS OO ooy,

], ®
Rhizome bearing Liliaceae plant
§7a003 ) $OS QDTN J%),

2. ¢ N
Corm bearing Liliaceae plant
SETAINIVN VRSN QO 308y,

3,
Cladophyll bearing Liliaceae plant

| SEHS 3 508 OOG 08y,
4.

Question Number : 14 Question Id : 7196501934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following synthesizes the cell wall?

& 800 IS DB KSR BAFEIDOIND?

Options :
Vacuoles

oSS

Golg1 apparatus

nme; 4Tok {0 SV
2.¢
Cell membrane
o) 31.‘695»
3. %
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Glyoxysomes

ISSVIY
o

4 R

Question Number : 15 Question Id : 7196501935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : (

What 1s ‘Inulin’?

3OS ©old Daes?
Options :
Polymer of fructose

O8'% ) PO
i ‘qﬁ? L

Polymer of glucose

Brs' sy OG0
2 -

Heteropolysaccharide chain

| QOFOFTR0G dyowodn

3. %

Homopolymer of cellulose

?;Jw?gtsaé OVevLy R ISP P00
4.%

Question Number : 16 Question Id : 7196501936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : (

Identify the correct sequence of the following sub-phases of prophase 1.

1 Zvgotene IL.
IV.  Pachytene V.

2008 I SR 006 @DlF0 DO EX0505 odotole.

L BESS 1L
N PS5 V.
Options :

LI, V

1w

Diplotene

Diakinesis

II1.

III.

Leptotene

SPES
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LI V. I

. W

M.LIV.ILV
3. ¢

mE LIV. V. I
4. %

Question Number : 17 Question Id : 7196501937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the cells/parts based on the characters given below respectively.
— Highly thickened dead cells with narrow lumen

— Lysigenous cavities with water

— Radially placed parenchymatous cells between vascular bundles

— Polyarch xylem bundles

A: Monocot stem B: Leaves of tea

C: Medullary rays D: Monocot root

S0l Y™ LEErL ST SewLn/eePos) SEUDMP (080wdw.
— OB WoloP ook, V) R WSEBE EOS A0S Serew

— A AUV LAREFORT T

—  PgPCorP @00 o0 )0EEerL SO0 TPPS Q)osL 0w
— 20370 DWW PAE QoeFe

A 2559888 SP0Cias0 B: S05r% dgrew

C: &Sg0@en D: 28¢5l S8

Options :

ADCEH

1 ®

B.Aa C.D

ted

A B

B, D, C A

4. %

Question Number : 18 Question Id : 7196501938 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

T
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Correct Marks : 1 Wrong Marks : 0

Match the following lists:

ListI List IT List IT1

A) Deposition of aromatic 1) Couple of I Sieve element
substances in secondary xylem layers

B) Dumb bell shaped cells 11) Resistanceto II)  Heart wood

insects

C) Peripheral cytoplasm with 111) Highly III) Produces cork and
large vacuole thickened secondary cortex

D) Narrow, thin walled 1v) Perforated IV) Part of stomatal
rectangular cells end walls apparatus

&2 Sol 2PDTPON BSLOWSN.

N | el 11 erede 111

A)  SIB00 wrluHS el 1)  238rden I) O Sredo
DTN a0l

B) Swdorsd Smren 1) SLzu 30RES 1)  ©odordud)

C) DOLOD Sealdaigo, WO8E 1) o30S Sdotdorr III) e, HIBS0H
Hobron 03,00 WIS YED

D) J)Q, Dendd &eafdaren 1V) 0B owrgew IV) 288 Ho8orw
5O BESRTTTS Srrew Sogsa%nedo By, &0

The correct match 1s

QOANS 23

Options :

A B t D
. i II i, I , I 1w, IV
1.

A B & D
i1, [ n, IV v, 111 1, II

2. ®

gcollegedunias
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Question Number : 19 Question Id : 7196501939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct statements.
A) During succession same species colonise an area whereas populations of other
species decline.
B) Both excessive water and dryness create a uniform situation to plants to survive.
C) The rotation of our planet around the sun and its axis cause distinct seasons.
D) Plants growing in water conditions possess well developed root system for good

absorption of water.

RO T3P (0C0uIw.
A) ©30E50a50 23RN §'Q), B wl PRIS AEVEID. §'Q) 2w BT W
2800,

B) 3008 0 WALFS, @O A0 Tue wUrerEsd DOV 2.8 TS HOLBA O yrow.
C) Ardugd wbwr alrdn gfetie, W &S S0 @PyoP AOR[S  wweHL

DS G,
D) A3 DORLLOT” PAADEF &), B0E) L0, B SYB Wl I Sg $O wots AEIR
3°RFow.
Options :
A, B only
. A, B gl
B, C only
- B, C gl

~

T
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C. D only

C, D Segdad
3.8 -

A, Conly

A, C e
4.9 =

Question Number : 20 Question Id : 7196501940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements.

A) Developing a carbon tax system will help i prevention of global warming.

B) Biome is the major ecological community consisting of all ecosystems.

C) Primary succession i water starts with planktons free floating angiosperms.
rooted hydrophytes sedges. grasses and finally trees as forest.

D) Eugen Warming classified plant communities.

POGIS PP gL (0o,

A) S0 D), VWA Wovddo WPITP (S w7000 o AT Dodiu).

B) 2000k 03P 5 @0 00200l DeS0EroSnoR) wddn dgdoud” Srd
a)ollo®.

C) QIS PLaE ©DNELS FNWE VETL-AELD BC Wby Wesdnd) w, vh) 0w
S8 0, (G 2P0, WIOTP LYRPLVEL TP a)otTPoN.

D)  CHrSS 00 @nd)0 HSFUS S08603.

Options :
A.B. C only
- A, B, C &g
A.C.D only
A, C,D Sorgesd
& ~
B. C, D only
- B.C, D &gl

gcollegedunias
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A.B.D only
A.B.D Srgl

4, ®

Question Number : 21 Question Id : 7196501941 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (
Pickles are preserved for longer period by the addition of salt. Which process 1s involved

here?

DRNF R &R S SO ©D ¥ S P QU Hotrow. By G 2 §0% FC olWoR?

Options :
Osmosis
(WERNSTOLENGY
1. #
Guttation
0t BS
Plasmolysis
Seagadg 08"k
3. ~
Imbibition
o DaPadaddd

Question Number : 22 Question Id : 7196501942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which mineral elements are present as structural components of electron carriers?

DOFIR TFIFOS” Q076 ¥ V% DPOUFLP &) & AD?

Options :
| Cu. Mn
N Fe. Cu
Cu. Cl
LR
Fe. Mn
4,
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Question Number : 23 Question 1d : 7196501943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Match the following lists:

List I
A) Low temperature 1)
B)  Rate of process  11)
C) Arginosuccinic  1i1)
acid
D)  Prosthetic group 1v)
€2 5ol 2SO BBD0WNk!
AN |
A) B80S eiS 1)
B) 250l Séw 11)
C) ©OSI8)I5 wao  1il)
D)  2ed5 ddwowrdie  1v)
The correct match 1s
QOGNS 22
Options :
A B -
m, I 1, IV v, I
1. &
A B C
uL Il 1 IV 1. III
2. %

List II
Refers to product
formed per unit time

Lyase
Coenzyme

Pressure the enzyme

ezredee 11
Ded0°Es LS’ R NG
&ONOTPL D00
STovi]

ﬁ?ﬁ“or)ogsﬁ))
o)ogaﬁl)& NS0
SOOIFON

1, III

w. I

II)

V)

II)

I11)
V)

List III

Fumaric acid

Temporarily inactive
state

Cofactors

Also called velocity

ereoee 11
@S@ﬁg E%)o

&) OforP
SOOI ?ga
PO TON TSN

wdtio 9 Sr5e
e9otP
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A B # D
i, I m I w, IV 1, 11

A B C D

w, I 1, IV i, 1 11, 111
4.9

Question Number : 24 Question Id : 7196501944 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of e— transport of photosynthesis.

80832553 DoTIPHSON ot e— Srerd” DO Eadainedd 0Qoudoas.
Options :

Psso —pPheo —Q, — Qg —PQ —FeS —cytf — P. —P,,

1. v
Poon— Dheo — Q, —Qp— oyt b, = FeS — B, —et { —F.— By,
2. %
. Pﬁsu_pheo_QB_Qg_Pq_C}Tbﬁ_C}Tf_Pc_Pmu
) P — Dheo — Qy — Q— eythy— eytT — Po— P — Py
4,

Question Number : 25 Question Id : 7196501945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Arrange the substrate of the following enzymes based on their carbon number in
ascending order:

A) Sedoheptulose—1, 7, bisphosphatase

B) Ribose—5—phosphate 1somerase

C) Phosphoglycerokinase

D) PEP carboxylase

E) Malate dehydrogenase

B0 BD)S 2oBSNL D Do K83 Hotdy BEUoP FAR BTTE §300S’ 0SB0k
A)  ACTRSE -1, 7, DI EE

B)  0e5'0 —5—arr)& awraodes

C)  F¥ESIE

D) PEP sr0)8 O

E) 0S8 Gardesses

Options :

AC.RDE

1. ®

- LB B C.A

NB.EC.A

3%

o B0 A E

Question Number : 26 Question Id : 7196501946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

gcollegedunias

T



In the given reactions, identify the substrates of respiration respectively.

CcH,0,+6 0, > 6 CO, +6 H,O +energy

2 (C,H,O,)+1450, — 102 CO, +98 H,O +energy

S0l WO F#IVEANT AP Mok WLV VWPTTU LI (Qowu.
CH,,0,+60, = 6 CO,+6 H,O+ %3
2 (C4HyO4)+145 0, — 102 CO,+98 H,O0+ %3

Options :
Sucrose. Albumin

0§28, WLV

1 &
Glucose. Stearic acid
(rS°e8, D05 esddo

i1 E 9 = 3
Glucose. Albumin
(3PS, L0

3%
Glucose, Tripalmitin
BP§°es, Sarandde

4.4 7 =

Question Number : 27 Question Id : 7196501947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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Assertion (A) : Respiration 1s a good example for an amphibolic pathway.
Reason (R) : In amphibolic pathway. both anabolism and catabolism dependent
reactions are catalyzed by the same enzymes. thus glucose is oxidized

and can be synthesized from amino acids.

QBGIN (A) : OO ©ONIL &2IOND TPt DWBNIH Do aweLrde.

wOasn (R) @20 Sarmre HES0S” Q07 gsod 0050 L0y $ow D50, Soti
a8 O¥DS doBSnw N wErdlide Sud BrsE w8)idne Wolied
SOOI VRS’ WaiiPw Dok Vo3eaS0 238NB5DY.

The correct option among the following 1s

& S0l BRYFOT DOGWIR

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)

(A) H680wS8, (R) 000086 56050 (A) & (R) $88 286w

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation of (A)
(A) L0ONIR, (R) SO0t 52 (A) R (R) I8~ 2806 5260

[
x

(A) 1s true but (R) 1s false
(A) V0oWNIR R (R) 0O000wS& 5260

(A) 1s false but (R) is true
(A) %6003 6 3 (R) H0L0wSE

4 R

Question Number : 28 Question Id : 7196501948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify “bolting” promoting phytohormone in cabbage plants.

538365 B0K O “eS'Ooh” HICND PO SYEHELS LTI

Options :
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Gibberellin

833033@25

Auxin

SISNS

Cytokinin
245308

Ethylene

2090

Question Number : 29 Question Id : 7196501949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Match the following lists:

List I
A)  Bdellovibrio bacteriovoriis
B) Discovery of DNA as genetic
material
C)  Salmonella tvphimurium
D) Pleomorphic bacteria
&2 S0l 23T 23SDGSW.
ere” |
A)  EgIDalr arLOaRS TS
B) DNA 2&0gw0ror 50T
C)  PSI” ToalrsSaDad
D) 20S00rd¥ eor§Oairen

The correct match i1s:

DO 2589
Options :
A B k: D
I 111 IAY II
] ®
A B B D
II IV I I
2. W
A B & D
III I IV II
3.¢
A B C D
II I1 I 1Y
4, ®

D)

1)

IV)

1I)

)
V)

List II
Griffith experiment

Changes shape depending on
nutrients

Parasite on bacteria

Transfer of genetic material

through phage

eredee 11
DS DOT Bden
FREPO 208 FTPL0 PN &
2SO0 DO°T) 2
P W°YO° 23y VErgro Wi
wWolled.
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Question Number : 30 Question Id : 7196501950 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statements.
A. The TMV is with molecular weight of 49x10° Daltons and 2130 protein subunits.

The number of capsomers are characteristics for each type of virus.

Conrat confirmed that genetic material of virus 1s RNA.

SHESIN-

The “burst size’ 1s referred to the number of newly synthesized phage particles

released by single host cell.

PO TPgaTR IR (WOo0DW.
A. TMV, 49x10° Grud emoerdsnes’, 2130 58 & DSrmren O otaod.
B. 2 J00 50 @r ¥ )awoHY Doy (802 LEE Golnol.
C. 300°8, J0R g Dwrdain RNA e 90708 Wad.
D. 2% 5o 0o SrSJorP D03t Wold HERWLONS P8 See)© Notg ‘DAHS DOSI~e0’
otrr.
Options :
A.B only
. ABorgd
C.D only
i C. D Sregan
B, C only
L« B.Corgd
A.Conly
A, C S
4

Question Number : 31 Question Id : 7196501951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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Identify the correct expression of the F» generation of monohybrid ratio.

D085 RS Fa 980 Gy, 0O S3856650 (0005,

Options :
[lnirHiulf]
Z 2 Z 2
1.¢
{liﬁrlr X(1T+lf]
A4 2 2
2. %
(lr+l;)x(lr+l;]
4 _
3 R
{ETJ#lr]x{iTjtlr}
4 2 2
4 &

Question Number : 32 Question Id : 7196501952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

In Drosophila, the genes for body color and eye color are present on:

TFOUE 00L0I0, I SCRSNOK WolS 2RFHN WA eHobrrow:

Options :

Autosomes

e3¢5 ane

X-chromosomes

X-§ 3P Fanen

2 o
Y -chromosomes

Y-§3rFaen

Sat-chromosomes

FEH-§ IV

gcollegeduniaa
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Question Number : 33 Question Id : 7196501953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Match the following lists :

List-I List-II
A.  Length of the one coi1l of DNA L 20 A°
B. Diameter of DNA II. 10
C. H-bonds between G and C IMm. 34 A°
D. Number of base pairs in one coil of DNA IV 2
. 3
& S0l DEITLD BBDGIoG:
DEIE-1 OEE-11
A, DNAS® o S00080 Gy el L 20A°
B. DNA &g II. 10
C. GHookw C 8 g H-2vedvren . 34A°
D. 25 DNA S00085085'D Dol T2o°0 V. 2
xS
N 3

The correct match 1s

DO 289

Options :
A B s D

o« B D \ I
A B C D
Iv m n V

2
¥

®
C

2
v
®
o

Question Number : 34 Question Id : 7196501954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Lac mRNA 1s synthesized in the presence of inducer.

Reason (R) : Inducer suppresses the activity of repressor protein.

D335 (A) : 5§ MRNA HOE HRESNS" HoFBoseieD.
S6as0 (R) © DOE Dargran 6306 FBS Gy, S5, 5855 SHoa.

A

The correct option among the following 1s

& Sol 200 L)S“DCSG DOTRI®

Options :

(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)
(A) 300038, (R) J00nS& 0050 (A) 3 (R) 108 2808

1. v
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation of (A)
e (A) SOOI, (R) SoonsSd 2 (A) 0 (R) 008 w&0e 5260
(A) 1s true but (R) 1s false
. (A) SOk 2 (R) Doouss oW
3.
(A) 1s false but (R) 1s true
(A) V0oL W R (R) Dbocwus&
4. %

Question Number : 35 Question Id : 7196501955 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Choose the correct statements.

A) tRNA looks like an imnverted ‘L’.

B) Sigle DNA dependent RNA polymerase catalyses transcription of types of
RNA 1n eukaryotes.

C) The structural gene 1n a transcription unit is polycistronic in prokaryotes.

D) Transcriptase catalyses the polymerization of DNA 1 5'—=3' direction where

3'-35' strand acts as template.

OGS TP gL (WOouISW.

A)  tRNA Sofctenrr oot ‘L'~ e9528es” Seiotood.

B) &3l 28a)S'Q RNA v 0SnaeR) 2.8 DNA e5r0¢ RNA OS50
&2 90G0 Wl

C)  Sol% rdy 2y ONSwS e’ Q0P ey 8 22iged) aPOVFIDS (P
2)otol.

D) Q'SJ §225 DNA Qlwg). 20280t 5'=3' GdS” @080 Wvod, ©F) &
3'=5" Pl DPVDUEP S350k,

Options :
A. B. Conly
. A, B. C g
1.
B. C.D only
. B.C. D Jrdd
A.B.D only
- A, B.D &S
A, C.D only
2 35 A, C.D g

Question Number : 36 Question Id : 7196501956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
gcollegedumas
_ India’s largest Student Review Platform
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Identify the reaction site of the Hind IT enzyme. DNA ligase and ribonuclease respectively.

A)
B)
C)

RNA

DNA-sugar-phosphate back bone
Joming sticky ends of DNA

Hind IT doBsn, DNA §8% 08050 a8 Srgdclhde wWorg P $SE0mr (108ouekn.

A)
B)
C)

RNA

DNA-U85) 8 P& 33y S8
EE) & FION D&

Options :

1. #

2 B

3. %

4.

A, B.C

B

B A C

B, C.A

Question Number : 37 Question Id : 7196501957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Arrange the process of 1solation of genetic material in a correct order.

A)
B)
C)
D)
E)

BGITTEV) DSED IO VECHC DV DAY WoTPUD VOGN §pol WS k.
RNA 5 Del'wirgfohes aryoe, Fedasd redahe mryor Sdhdoiud.

A)
B)
C)
D)
E)

Removal of RNA by ribonuclease and proteins by protease enzyme.

Breaking the cell by enzymes and release of DNA with other macromolecules.
DNA 1s separated by spooling.

Dissolution of all the biological membranes by detergent lysis.

DNA is precipitated after addition of chilled alcohol.

50 WJoBine TrT° e DNA &, 000k 0O 20 )i dene)enid JEdoird.
DNA 5 Doé3§'0 @ryoe DEboheteod.

) #IBITOD Gl TPIT° DY) o Sakée.

2P SR YEHTS FOLIYE DNA 005800 GoldFeiod.

Options :

A B C.ED

~

T
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B.DAEC

2. ¥

B, C.a.TLE

3. %

. ACHEDE

Question Number : 38 Question Id : 7196501958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Assertion (A) : DNA fingerprinting is the pattern of DNA fragments on the gel.
Reason (R) : It1s a technique used for the identification of individuals based on

differences in DNA fragment patterns.

Q3BEW (A) 1 8BS 25 DNA 5008 © 9508550 DNA F5O50¢ e90t080.

5206330 (R)  © DNA @0l8r0 Seldrare i) S3&Pgoe &dor® & 2.8)00 &g8tidorr
(00NN & FPoSSE LTI &WCIFNHFN.

The correct option among the following 1s
&2 $o& DD)FTUS LOGLID
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation of (A)
(A) Q0OWI&, (R) 000005& OAiW (A) 50 (R) 008 &Ces.

1 ®

(A) 1s true. (R) 1s true but (R) 1s not the correct explanation of (A)

(A) L00NIR, (R) 2000038 520 (A) ¥ (R) 10 28508 060,

w

b

(A) 1s true but (R) 1s false
(A) V003& R (R) SO0 Pa.
o

(A) 1s false but (R) 1s true

(A) D00WIR W 2R (R) D0awse.
4.9
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Question Number : 39 Question Id : 7196501959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which technique 1s used to produce virus free plants from virus mfected plants?

SR TgBD B8y Dok FES G Bo8) VD 0) PoSBE HFFSSN T T° GBS
SO0 0?

Options :

Anther culture
$loLle! ?ééc;ﬁréoﬁw

Meristem culture

STV AN AN TOINANY
2. :
Embryo culture
.8 200s O5BW
Ovule culture
D INTOINN Y
4, ® "

Question Number : 40 Question Id : 7196501960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Blood cholesterol lowering agents’ statins are produced by the following yeast:

G505’ §HFUD S0 PP, & Y Dol GBS BD:

Options :
Aspergillus niger
&) OO Jai0

] % L =

Saccharomvyces cerevisiae

. TRODI0 DODVAD
;
Monascus purpureus
D55 Dy 6ADS
3. ¢
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Trichoderma polysporum

g_}fs &?’G"é by Vi J@ﬁ)

4. %

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Zoology

71965041
2

Online
Mandatory
40

40

40

Yes

1
71965041
Yes

Question Number : 41 Question Id : 7196501961 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

In the hierarchy of classification. the lowest obligatory category in five Kingdom

classification 1s

000 0”3z SOEGERS R VNG WoBVES V) FOW BIFONE oL

Options :
Order
¥e

LR &
Species
°ed

2.¢
Phylum
oo

3. 0
Class
e (No

4 &

Question Number : 42 Question Id : 7196501962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Assertion (A) : Species is an evolutionary unit

Reason (R) : Having smmilarity m structural and functional characteristics

V8O0 (A) : S 28 DOET DOTE30
>0t (R) : Jomyerd s, Soird) S o gerens’ F A0S $OA Gotidoo

The correct option among the following 1s
&8 Sold DQYFVS DOGVSL

Options :
Both A and R are true. R i1s correct explanation for A

i A 208030 R Dzo. A § R DB D63

Both A and R are frue. R is not correct explanation for A

A 06030 R Do. A 8 R 380 D663 5°¢»

2.8

A 1s ttue. But R 1s false
A Dzo. 570 R d20 3760

A 1s false. But R i1s true
A Q20 5°¢D. 370 R Do

Question Number : 43 Question Id : 7196501963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following secretes chemicals acting opposite in function?

& 800 oS D HSD )0 SgBBEP DIV SFOS DTPTV VDFOW?
Options :

Adipocytes

@&Q‘:@gx

| ®

Mast cells

A° EEeen
2. ¥ o
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Plasma cells

oY ST
L. -

Phagocytes
j w&E eren

Question Number : 44 Question Id : 7196501964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Study the following statements:

Statement I : Bundle of muscle fibres 1s called a fascicle.

Statement II : Ependymal cells of nervous tissue develop from mesoderm.

808 9T STAITOVINE DOG
?‘3@3“66:6 I L 5ol Bof0eHO S FPOES 9ot

DBPSII 1 T°G¥E eSS’ WRelaS ST 083 wo ol BITHDIPFON

The correct option among the following 1s
&1 $o0 DRYFOS” HOGSL

Options :

Both statements I and I are correct

DBPAI I, IT 003

Statement I 1s correct and statement IT 1s wrong

|, DOFBS TIPS, 0 PAPES T 1S &
z.

Statement I 1s wrong and statement II 1s correct

DAIES T DI . 20 PAFSS 1T 5356

Both statements I and II are wrong

QBPAS I, I 003 s°ad)

Question Number : 45 Question Id : 7196501965 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

~
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Match the following:

Nematode
A) Ancvlostoma
B)  Enterobius
C) Trichuris
D) Wuchereria
So8 T 2HDGI0C:.
DIEE
A)  Dogeiiar
B)  D08380a05
C) @05
D)  asdsarr

The correct match 1s

HOCCS 2269
Options :
A B C
gD IV \
A B C
5 I vV
A B -
I V I
- &
A B C
o I I

Question Number : 46 Question Id : 7196501966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

I
1)
I1I)
IV)
V)

I)

)

IV)
V)

n’.’

Mandatory : No Option Orientation : Vertical

Common name
Filaria worm
Hook worm
Pin worm

Guinea worm

Whip worm

O TS0
DSBOIT LD
§o8 YD

2R SO}

A T°G DD
D DO
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Correct Marks : 1 Wrong Marks : 0
Study the following statements:
L Echinoderms having Aristotle’s lantern are commonly called sea urchins.
II. Larva of enterocoelomates with stomochord 1s tornaria.
III.  Circulatory system 1s open type in molluscs having a foot modified into arms
around mouth.

IV.  Bivalves have radula in their buccal cavity.

508 TN BH5aJo WAL G,

I o0PeS Sbo SONS DBSEELOD DS B0 Bolrdo.

IL w5 ©0l e750es) SO0 wodd 06 S05r8 el Gotfdo Erd) 00K

I $E b @rTVHOIT Eraredde Woldd aPte SO GwuyQL 8% D006 Sga50
DY G&o.

IV.  &g%ard) ey 5ol 0toger Goltiod.

Among the above, the correct statements are:
2 aPEIES” D0 ©oTPeN

Options :

I II

1 B

[ II
2.v

Question Number : 47 Question Id : 7196501967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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Match the following:

Genus
A. Exocoetits
B. Preropus
¢ Draco
D. Rhacophorus
S0l PEIR 2385 DSl
208D
A DO
B. &o0
C. &%
D. OeSPOD

The correct match 1s

OGDS 2B
Options :
A B
I II
1 B
A B
- I11 V
A B
, 3¢ 8 v
A B
- I11

II1.

Wis

11T

V.

II

Common name
Flying frog
Flying lizard
Flying fish
Flying dog
Flymg fox

PO P
200 50N
20 WY
o0 DD
60 5%
00 38,

Question Number : 48 Question Id : 7196501968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

~
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Study the following regarding frog:

I) Corpora bigemina 1s present i the mid brain

1) Bidder’s canal 1s present in the kidney of female frog.
IIT)  Sinus venosus is present on the ventral side of heart.

IV)  Collumella auris 1s present in the middle ear

E0H)H 020000 S0l BTN BH30NSe WONok.
) 60 PBWT Sy EES Golwod.

) e £y e DotiodS” BEE 05 Gobwod.
III) SeGi GO e DTPRGE @olol.

IV)  Sitdg DO E8 Do Gobnod.

The correct statement from the above are:

2 WL DSOS

Options :

Only I and IV
: L IV Sorgad

Only L. IT and III
L, 1T, TIT &85

2. =

Only II. IIT and IV
IL, IIT, TV &So°8ad

EE

Only IIT and IV
III. IV &Soegadd

4 =%

Question Number : 49 Question Id : 7196501969 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

~
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Statement I : During binary fission in Paramoecium, the daughter individual formed

from the posterior part of the parent 1s called proter.

Statement IT : Sporogony in Plasmodium 1s a type of multiple fission.

DO PSS : Soddhavo BEINSD S B i DS B Sob VNG HY 2D F&E

ot

OO FES I : rAydQDees” 2200 FYTED o SEDS WG DD

The correct option among the following 1s
& S0l DAYFTVS LOGDIB
Options :

Both statements I and II are correct

0 FesSen 1 208050 11 IS

Both statements I and IT are wrong

DB e I e0dain II DB 57

Statement I is false and II 1s correct

2B PEI0 [ DTG 570, 0B P& 1T DGHE

Statement I 1s correct and 11 1s false

OB S T DBHB. A FES 1 DD S

4. % ~

Question Number : 50 Question 1d : 7196501970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Match the following:

Type of flagellum
A) Stichonematic
B) Pantonematic
C) Acronematic
D) Pantacronematic
Sod TPEIR 2B DONG:
§Pwo 680
A) RS VS
B)  JeolS i
C)  R§VSeS
D) PolIS VS°¢35

The correct match 1s

DO 23¢9
Options :
A B =
II IV I
| ®
A B B
I1I II >
2. %
A B £
II1 I IV
3.¢
A B <
I IV II
4 %

Example
I Peranema

II) Chilomonas

I1T) Euglena
V) Chlamydomonas

V) Urceolus

[Siaprtyletss
I) 0% Ja0®
)  gSaroed
I10) alueiaoe
IV) se&arord
V) @0y alrew

\‘T

~

T
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Question Number : 51 Question Id : 7196501971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the incorrect combinations

S.No Parasite Infective stage toman  Mode of infection

I  Plasmodium vivax Sporozoite Biting of male
Culex mosquito

II  Entamoeba histolytica  Tetranucleate cyst Contamination of
food and water

III  Ascaris lumbricoides Miracidium Contamnation of
food and water

IV Wuchereria bancrofti  Third stage microfilaria  Biting of female
Culex mosquito

808 TR BN DY HOPR DYDYV Yoo’

D. Do DOPI) e STPIHVS VoEes 0¥ No8eddes DBeJo
I grdgdabe gursy FNTBw St srpersy o
57D OV
I abdadar ryods R 0 §do LRGeS A,
S G0
I &) 00 wodsravicy  NTPAGON0 5 085a3d A,
05050
IV &800alr a5 Ceas ¢5d DS QOOCT®  ese SISy F
SOV S
Options :
I I
]
;s 1V
e IL T
[ III
4.

Question Number : 52 Question Id : 7196501972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

T
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Correct Marks : 1 Wrong Marks : 0

The following are the different stages in the cycle of Golgi of Plasmodium. Arrange
them m correct sequence.

I) Amoeboid state II) Trophozoite

ITII)  Erythrocytic merozoite IV)  Schizont

V) Signet ring stage

F B0 T, TP SEotS' 808 B3 DB YEEPO0. HEID DTS SED E500tS ©SE oG-

I) 29a02TP 0N ¥ I  S¥gEen
) o3 688 DB IV) Qoo
W @amqgm
Options :
L IV. L V. 11
] ®
. LILIOLIV,V
V,IV.IILLII
3 %

i ILV, LIV, I

Question Number : 53 Question Id : 7196501973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Statement I: Adolescence 1s a very vulnerable phase of mental and psychological
development of an mdividual.

Statement II: Use of TDA even once, can be a fore runner to addiction

DAPAI [ a8 g8 SPIVE, DSVPS WASYQS TS B PO Fold &P
DOHEBFS.
VBFGS I TDALD 28 0 S0HT), 90 Sg0T°08 G0 BSOSy,

The correct option among the following 1s

&1 Sold DRAYFOLS” DOGDIE

Options :

~

T
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Statements I and IT are true.

, 2OFaIe L IX9S

Statements I and I are false.
g@mséw L, IT 03 5°ad)

2. ®
Statement I 1s true. But 1T 1s false.
AN RUINARVIRO U AINE | RSToIN AR AV

Statement I 1s false. But II 1s true.
DAPES I 3030 20 520 Barcded 11 5B

4. ®

Question Number : 54 Question Id : 7196501974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Identify the product ‘X’ that is reabsorbed in the Malpighian tubule of cockroach.

25 Q0¥ SIPD 28000 TPPES” Q) e Wold X’ &Y YT®) D), Qotel.
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Options :
Potassium carbonate

FEPRONe 520 )3

| ®
Potassium oxalate
" P00 SEOE
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Potassium bicarbonate

2 aréIray0ie @S"ﬁg E)ESGS
3.

Carbonic acid
0 )5 &fo
b3 ™

4.

Question Number : 55 Question 1d : 7196501975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following
Sclerite Location on the head of cockroach
A) Vertex I Cheek Sclerite
B) Frons 11) Sclerite bordering the occipital formen
C) Clypeus [IT)  Front large sclerite
D) Gena IV)  Narrow rectangular sclerite
V) Top of the head
808 aPEIR) 2389 DNl
?ogg&.u e5"B08 SO Giolt &0
A) 3% D ode 06
B) Swa do ) ODEPRO Sogr), Wit Gols w3}, 08D
C) E&JOZSJE II)  Set I Gole W DLo )
D) &3 IV) &8 ISP i)‘g@é.u

‘V) @UQ g0

The correct match 1s

OO 238
Options :
A B C D
. m IV I
A B B D
) % II \% IV
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A B C

Y I v
3 R

A B C
@ W B

Question Number : 56 Question Id : 7196501976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Observe the following diagram of ommatidium of cockroach and pick up the correct

set of labelling:

Sold Rdgetedd &3° Qo8 J8Pd XFPR), DOBDD DOMP (00vientedd ERPL DNSR), (000wSel

Options :

I

Cornea

DY Do

I
Rhabdome

DO Botio

II

Crystalline cone

E’JD“J)QS: Colso

I

Retinulae

&3@. e Segee

I

Iris pigment cells
DOTPOE SO5 Seen

11
Retinal pigment cells

5@ A D) &Sc;.ig Eeaee
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I

Crystalline cone

0158 o0

3 R

I
Crystalline cone

03638 Fo%o
4. v

II
Rhabdome

W&Sgg Coléo

II
Rhabdome
RTPH0F Dolio

I

Pigment cells
&')iﬁg 80

11
Retinulae
;Sgg 0 ¥eeen

Question Number : 57 Question Id : 7196501977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The density of the population will increase when:

O SO BI%T Poldh ©OHZo WaHTh.

Options :

(Natality + Immugration) = (Mortality + Emigration)
o (@33 0w + SO Tele) = (5088 B + SUD Failo)

(Natality + Emigration) > (Mortality + Immigration)

2.

i (22505 BEW + SN FSlo ) = (2088 B + SN TPSo)

(Natality + Immugration) > (Mortality + Emigration)
e (23503 B + SN TPSG0) = (o088 BN + SL Fadlio)

(Mortality + Enigration) = (Natality + Immugration)
= (30863 B + SLD FSG0) = (2333 B + S T°SCo)
4.

Question Number : 58 Question Id : 7196501978 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

~
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Match the followmg:

List-1 List-2
A) Mutualism I . .
B)  Competition Ny +.o
C) Parasitism Im —.o
D) Commensalism W) =k
L T
S0 PR BHDGNole
wom -1 won -2
A) oS gorgdod DHresSSo I +, —
B) ¥ededgo I +o0
C) DO 2éadedo Im —.o
D) RITHasdpe V) 5
\F’ ) — —
The correct match 1s
00AD &S
Options :
A B @ D
: IV vV I II
A B £ D
5 IV Y III 1I
A B & D
II I V JAY
3 &
A B C D
L WV II Vv I
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Question Number : 59 Question Id : 7196501979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s a green house gas?

80& TrEeS” PO TPAINDA Dol ?

Options :
Ethane

. 635

Chlorofluoro carbons

, §8Y =5 dw

7 A

Methane

QB

3.¢

Nitrogen oxides

AR GG

Question Number : 60 Question Id : 7196501980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statement I  : In human beings, molars are absent in milk dentition.

Statement II  : The hardest substance in human body 1s secreted by odontoblasts.

AN : SSPSRHR FPLL DT°gES WIS Gotea).
VAPEIIT 2 SoPSad DTPeS'D) @63 & YEadd DWPT°R), oed TP )8 SEe JVPOW.

The correct option among the following 1s
&t S0l DRYFOS” DOGDIE
Options :
Statements I and II are true.

DX I, I 0353

Statements I and II are false.

VBrOI 1, MO0 °ad)
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Statement I 1s true. But I 1s false.
S ATV RUSIVARUIIR N ATV | BTN AR AV

3 W

Statement I 1s false. But II 1s true.

ol L AEAINE RUSINARATISIVR SN AV | RSN A

Question Number : 61 Question Id : 7196501981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): In the transport of carbon dioxide by blood. bicarbonates are formed in
plasma and 1n red blood cells. but more rapidly in RBC.

Reason (R): RBC contams higher quantity of carbonic anhydrase than in plasma.

3B (A): %0 TPYTP SPTNR UONPS)G SaeereS” 205°0 N 3E PSSP, WP JEEEPLS’H
5 Ye&Pow. 50 RBC 80 &30S0 S NEEPOW

50t (R): RBC & 5207335 000 e 9 0doBS0 e’ $0°) ©0F DOSreees
[SILAVETA

The correct option among the following 1s
& S0l DRSO HOADIG

Options :

Both A and R are true. R 1s correct explanation of A.
- A 30030 R Q2go. A § R 00 d58¢€

Both A and R are true. R is not correct explanation of A.

. A 300050 R dzo. A § R 005 D568 S

2.
A 1s true but R 1s false.

. A Dego. 320 R Q2o 520

A 15 false but R 1s true.

A D230 3280, 320 R ®edo
4. ®

Question Number : 62 Question Id : 7196501982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The composition of lymph and blood plasma are almost the same except for the absence
of

30 B0 00 B ) Y, VoESe 8o e’ Blld By T 8l Dol
&ot00d.

Options :

1

2

: 8

4.

Lymphocytes

9O S

Neutrophils
_w wgg RISV

Erythrocytes
W0eS VW
" R e o

Antibodies
DD O

®

Question Number : 63 Question Id : 7196501983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Following are the parts of nephron
I) Proximal convoluted tubule
IITI)  Distal convoluted tubule

V) Malpighian body

3598 Ve°ea0eS” grrrPen $old Bdge0GE0W
I) WDy VoD T°LE

)  &rov) Do o9

V) Sr9yons dire

Arrange these parts in correct sequence.

&8 ZFTPOD DTS §300eS” @S yobs.

Options :

.

_V.ILLILIV

V)

)

Collecting duct
Loop of Henle

0¥8e or%o
33"5@ %§5o
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. V,LIV.II III
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Question Number : 64 Question Id : 7196501984 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A - band in skeletal muscle doesn’t contain:

O 5B A — DS’ Soltidd
Options :
M line
M-3®

Thin filaments

065 0 Boten

Z line

Z— 0%
3.v

Thick filaments

B906 SHoe8)en
"

4.

Question Number : 65 Question Id : 7196501985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (
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Match the following:

Spinal nerves

A) Cervical nerves

B)  Thoracic nerves

C)  Lumbar nerves

D)  Coccygeal nerves
S0l IR 2389 HGWNete:

§3860 o

A) O IROw

B) & oedhen

C) 88 ordoew

D) 388 Tedow

The correct match is

OGS 2365
Options :
A B C
o B 1Y \
A B C
, o I \%
A B C
II V
3 ®
A B &
1AY I I
4. %

Number
I) 12 pairs
II) 8 paws
1) 1 parr
IV) 6 paus
V)  5panms
o83
) 12 &S
1) 8 23%%e
II) 1z
IV) 623w
V) 5z

I11

~
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Question Number : 66 Question Id : 7196501986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

Statement I : Thyroxine regulates the basal metabolic rate

Statement IT : Thyrocalcitonin plays an important role in mamtaining the calcium and

phosphate levels n blood.

DATFSI T : FUeS\S re6 2D Gensd DaoGRod.
DAT S I : O OIS 650e5° 5790, PR EW FONLS VODB6R.

The correct option among the following is

&t Sold DRYFOS” HOADIE

Options :

Statement I and statement II are correct

DOV T 208050 DAIED II KOS

Statement I and statement I are false

DAT D T S0B050 DA T DTS °a)

Statement I 1s true. Statement II 1s false

DAFED 1 50358, QOF G II HOSH &

Statement I 1s false. Statement I1 is true

DOV T 50D 60, OGS TI HOSB

Question Number : 67 Question Id : 7196501987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Assertion (A): Spleen 1s a secondary lymphoid organ.
Reason (R) : Mature lymphocytes become functional lymphocytes m it.

0Bo (A) 1 Do & AIBOD DoPoni ©S0NSo
w80 (R) 1 DOBS BodS Oodin HUS §0ireh) § Qo RENT SIS0

The correct option among the following is
&t Sold DAYTVS HOGDIB
Options :

Both A and R are true. R 1s correct explanation for A

A 000 R 2o, A SRODS 286

Both A and R are true. R is not correct explanation for A

o X 200050 R d2o. A S R 00 Ds58€s 5°¢0
2.

A 1s true. But R 1s false

. x Ado. SO R Q%o S

A 1s false. But R 1s true

A D220 3280, 320 R Q2o
4. %

Question Number : 68 Question 1d : 7196501988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Statement I:  During spermatogenesis, the sperm heads embedded in sertoli cells are

finally released from the semuniferous tubules by the process

Spermiogenesis.

Statement II: The mature follicle called Graafian follicle contains secondary oocyte.

DD PASL: DE 8IS DHF o) BN VFO St §68 P30S WoONP GolIPOW.
8D VPO FPL Dol HFFNDE TREVSE WL VIR, DY o

Rdde( spermiogenesis) ctrd.

OO PSS I HODES DS WONS TPOODHS LS BIBOD Wols ST otwod.

The correct option among the following 1s

&t Sold DAYV HOADIE

~
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Options :

Statements I and II are true.

DrdIen 150050 I O0I.

Statements I and II are false.

DBardden 1500050 I 0050 °6))

It'-‘.J
®

Statement I 1s true. But II 1s false.

SR AN RUSINARLISRSL AN I RVIVARAY

Statement I 1s false. But II 1s true.

Q@?c&é I 003G 5780, °0 Q@ma IT D0S&
4.

Question Number : 69 Question Id : 7196501989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Study the following statements.

) Barrier contraceptives like condoms prevent STDs.

1) The 1deal contraceptives for spacing the children are I[UDs n India.

)  Depotmedroxy progesterone acetate ijection provides contraception for three
years.

IV)  Oral contraceptive pills inhibit ovulation as well as implantation and alters

cervical mucus retarding sperm entry.

S0l T BU30He WOl

D 656 QTS TG 5D GohE DSy 5w AEBFON

)  rO00ES DO Sooy o GeSERs K0S BEYOTEE FEo HOPYIOLTeS
FPOTO.

IOI) G¥FDEE) FRYOQ QDS oI Ird Soth B8we0e 288000 S0t
DoSBNTPL) S5 BEes B200D.

IV) 55 QEEE Srgen olengey , Hot D& FOSH EBewd K07y 305 Sareyd
3Ny (e, S8 WA DHF Serw DITR), VTEOFOw.

Find out the correct from the above statements.

2 oL DO TR DOl

~
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Options :
Only I and II are correct

L LTI &g 0950
1.

Only IIT and TV are correct
1108 AYARNV LGN VRSTOINEY

27 W8

Only I, IT and IV are correct

,, LILIV Srg5 3039

[ IT, IIT and IV are correct
I, 1L, IIL, IV 3050

Question Number : 70 Question Id : 7196501990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If one gene mfluences many phenotypic traits, the phenomenon is called

28 8330309) W8S S5 BTV PEPOBo I EyNHgRato

Options :

Polygenetic iheritance

WV ODSoBES

] %

Pleiotropy
) g ;}

2.¢ @

Multifactorial inheritance
2OATRVET PO €9-309085¢H

3 R

Multiple alleles
2OTOFOIY DELYSPED

4. %

Question Number : 71 Question 1d : 7196501991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Assertion (A) :  In honey bees females are diploid and males are haploid

Reason (R) : Females develop from fertilized egg while unfertilized eggs develop

mto males.

%o (A) @ BIBKOS &l S SIONVBS'D, S0 DEVSE'DH dobro.
w00 (R) : o8 &3¢0 2005060 Wold WoiPLo, o B3I Db

508000 WoGPUNE BN Y® Wl SPOW.

The correct option among the following is
& $o0 DYTOS OISR

Options :

Both A and R are frue. R 1s correct explanation for A
A 0050 R Q2go. A SR 005 Da50€s

Both A and R are true. R 1s not correct explanation for A
A 500030 R Q2go. A 8 R 00 023868 5760

[
¥

A 1s true. But R 1s false
A Q2o. U R Q2o &0

A 1s false. But R 1s true

A D22 370, v R ®23e

Question Number : 72 Question Id : 7196501992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following:

Karyotype
A)  AAXX
B) AAXY
C) AAXXX
D) AAAXX

8ol PE3R extd DOl
Or s,
A) AAXX
B) AAXY
C) AAXXX
D) AAAXX

The correct match is

Options :
A B
g 11
A B
5 o II 111
A B
I 11
3 8
A B
4. ® ¥ L

Sexual phenotype
I)  Metafemale
II) Female
III) Male
V) Metamale
V) Intersex
Sofi G
) 539D
Il 3922
o) QDD
IV) ©0pdg
V)  ~endel) 22
C D
IV I
C D
I v
& D
III IV
. D
‘/T

Question Number : 73 Question 1d : 7196501993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Study the following and pick up the mcorrect statement:

S08 TPE GO0 B VBE°Q WoT°) (Hotdoc..

Options :

Erythroblastosis foetalis is caused when Rh™ mother carries Rh™ foetus.

Rh™ &9 $50°)30566" Rh™ dotio @2)85y0 Botsero 50 MBETIDD D

R0LID08.
1. %

In honey bees, unfertilized eggs develop mto drones

_ B " DBEEE0 Dot HEd B0 ST WDSYD DotdSTAW.

& 2

Genes located on non-homologous part in Y-Chromosome are called holandric
genes

Y §a3red a0 Gy, 00eo S0 G5 Q) 2adgadd HFeRelS BgadHen
eotId.

Thalassemua 1s an X-linked recessive disorder

GOYNOW a8 X-0T°009) @oBF 203 DI
4.9 -

Question Number : 74 Question Id : 7196501994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The hormone that stimulates the reabsorption of Ca™ " 1ons mn the urmiferous tubules is

SXPHPS TPES’ Ca’™” OSPRO S e RBR HE' YD

Options :
Parathormone

» OG0 Y

Calcitonin

SONS DS

w

[ o}

Thryroxin
DTSR

3.8

~
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Vasopressin
PR
4. % i

Question Number : 75 Question Id : 7196501995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In human evolution, more ape like individual

3337385 DOEPe & 58 SR §'3(ape) FO &Iy 260
Options :

Astralopithecus

9ES VIS

] %

Drvopithecus

, GOy
2.

Ramapithecus

O3S0

Homo habilis

i TEIP 720

Question Number : 76 Question Id : 7196501996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Follow the three column matching and find out the correct combination.

S.No Era

I) Palasozoic
IT) Palaeozoic
IT) Mesozoic

IV) Mesozoic

80& WoTUND %50535@ ) &

o3, 0 awal® OSWie

I) »OrS 0wt
1) 2Oaires"ons
IIT) ao¥edons

V) SodreTons

Options :

Only IT & IV
o ILIVSrg®

Only ITI & IV

IIL, IV S35

2. %

Period

Carboniferous

Permian

Triassic

Jurassic

Qiudie

Only I. IT and IV

I IT 500050 IV &gy

3_%

[ II. IIT and IV

L II, IIT so0csw IV

4.

Significant event

Origin of cotylosaurs

Extinction of trilobites
Origin of dinosaurs

Origin of birds

gé % Doa)Lind (0Qedela

Question Number : 77 Question Id : 7196501997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Peripatus 1s a connecting link between

DODLS DD Jrig eseS DY)

Options :
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Reptilia — Mamimnalia

28y — 6Tren

Reptilia — Aves

RO Dre0 — DLW

Annelida — Arthropoda
, v O30@ — Slopber

Protozoa — Porifera

Fe @ — FOJO°

Question Number : 78 Question Id : 7196501998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o-1 antitrypsin 1s used to treat

0-1 aJol3 EI0)S X B DEBYK DICIFHFE
Options :

Emphysema
v 9oDS®

Phenylketonuria

L OIS &5 3500

b

Haemophilia

PIPLOOST

e

ad

Sickle cell anaemia

§GSO By O8I

Question Number : 79 Question Id : 7196501999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Match the following:

Type of cancer

A) Carcmoma

B) Sarcoma

C)  Familial cancer

D)  Sporadic cancer
Sold PEIR 2385 DNl

SN Y

A) OSSP

B) &0 &0

C) 5otwozre) °5)0

D) 308 Sotd 5250

The correct match 1s

DOGIS 23¢9

Options :

B C D
IV Vv 11
B G D
I I IV
B C D
I IV I

Affected tissue

[)  Genetical

1) Epithelial tissue
III) Non genetical
IV)  Connective tissue

V)  Nervous tissue

Qw&émﬁ ol B

%0335 seETee

GwSe 56 20

DoOdreel g0

I)
10
OII) ©NSe3%e A0
V)
V) & oo

~
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4.v

Question Number : 80 Question Id : 7196502000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : MRI is a very safe diagnostic procedure

Reason (R) :  This technique uses magnetic resonance.

D3P0 (A) 1 MRI 8t Jg-ciesd” erer ABES0D DGO,
sodts0 (R) @ S8 HS0NES" 00N o TP, DICIFHPDR.

The correct option among the following 1s
&8s $o& DRYFOES” HOGSE

Options :

Both A and R are true. R 1s correct explanation for A

A 350050 R Dzzo. A § R 98 D66

1.v
Both A and R are true. R is not correct explanation for A
, A 00 R dazo. A SR D3R D566 5°C0.
:.
A 1s true. But R 1s false
. A dzo. 5°Q R Ao 5°¢D
3.
A 1s false. But R 1s true
. A Qavo 5°¢D. 5° R Ao
4,
Physics
Section Id : 71965042
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Mark As Answered Required? : Yes
Sub-Section Number : |
Sub-Section Id : 71965042
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 7196502001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

Identify the scientist who experimentally verified the predictions of theory of electro-
weak force.

DD SN WL DBPHRIVD o TRIVD DAIPPE EolP AR,

Options :
Carlo Rubia
SDQ"’ SIeo0sTe
|, %
Abdus Salam
92000 W0
2 o

Steven Weinberg

%3255 B &}é
3. W
Edwimn Hubble
VPSRV
4, %

Question Number : 82 Question Id : 7196502002 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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At normal incidence. a beam of light propagating m vacuum reflects of an

interface with a medium of refractive index n= 3. The fraction of energy reflected R 1s

; n-1Y . : o .
given as R = —1} . If the fractional error in the value of n 1s 1%, the fractional
n+

error 1 the estimation of R 1s

28 5908 oz ErdgeeS” HVOQ® S5aISS Motfo n = 3 o af PSS Gk Boed
(interface) ©92)ozy HBSe Vo VTCIGSe Wolold. & OIS DUIOL 5% 250

R ={”_” P BS20EI0. N DNSES G aBS0 1% ©owd R ends” IG0wed
n-+ -

(T R2THISN

Options :

1.5%
1.v

2.0%

0.5%
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A man mn a lift ascending with an acceleration throws a ball vertically up with a
velocity V and catches it after time 3 sec. Afterwards when the lift 1s descending with
the same acceleration, the man again throws the ball vertically up with the same

velocity and catches it after 1 sec. Find V (use g=10 m/s?).

28 D) B6E0d DS DA DD OPS &) I8 WS wodD V' D
QO™ DS DVT°ED, & oS 3 V1 SIS DEVEIW. T ST°(® @3
36208 O S0 WD) DD LBV &3 DS WoB B JMHAVS DD
28 V0. TA 1 V11 SGT°S DENEI. V™ & S8 Dok
(g=10 m/s? ™ HZ0E0d)
Options :
7.5 /s

1. ¢

9.0m/s

2.8

10.5 m/s

3. W

12.0m/s

Question Number : 84 Question Id : 7196502004 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An object is moving in a plane and its trajectory r(z)(in meter) is given by.

F(;)z( 3t + 2t )i+ 2t } . Where t 1s time (in second). The angle that the velocity vector

makes with the X-axis att=0.

W S0P w8 DHBS SO o HEOS  SGSD  r() (Seus’)
F(r):(_ 35 2r)§+ Zr}' (P BIJ20EIR, BHYE 't PO EIS'. t=0 S¢S X-00€ 508 S
26F 3% 550

Options :

{]0

~

T
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30°

b

45°
3.¢

60°
4. %

Question Number : 85 Question Id : 7196502005 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A ball 1s projected at a clhiff of height H with an mitial speed of 100 m/s at an angle
30° above the horizontal. The ball hits the point A on the cliff after 5s. The height of
the cliff 1s

(Assume g = 10 m/s?%)

28 20DV S8 DSPeHTrRS 307 §tsasves” QRSO &) H d&0 o oedchdy (cliff)
23D 100 m/s e5"Daitiaines” HEDESN WODEID. & Wod 5 V11 B & T°HN D
A PJo S8 TPESD. & Tk oI

(g = 10 m/s? 3§ $50)

Options :
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Question Number : 86 Question Id : 7196502006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A
A particle starts from the origin with an mitial velocity v= (3.0 ] }ne /s and a

- A A . : ; .
constant acceleration a= (—O.Si-l.{] ] ]-m /s”. The velocity of the particle when it

)

reaches 1ts maximum y coordinate 1s

Fs
i

Wl EESD  OPORES) ol WBESHON  SOIES B:laoj}m.s- 320050

SO IV AN 'a'=f -0.5i-1.0j ]m /5% 5500, & $tio TR K09 Y AEFDHESD IO

s

PR a3tdo
Options :

21
1 B

=1.51 4+ 1.5}
2. %

~1.51
3.¢

i .

151 +1.0]

4. %
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A constant horizontal force Fof 30 N is applied to block A of mass 10 kg which
pushes against block B of mass 5 kg. What 1s the net force on the block A? The

blocks are placed on a frictionless table.

_—

af AODS L8R Vet weo F 30 N D 10 kg S850°% o Oy A 2
VAIFOowdenlecia) )i @& 5 kg (8g0°8 (o Qady B § SgB0530P IQeutecid. @ownd
&y A D FO0 DEGeI0 dod. & QI NG S WY GoudedGI.

Options :

20N

ISN

[
&

10N

SN

Question Number : 88 Question Id : 7196502008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

A particle 1s tied to a string describes a vertical circular motion of radius r contiually.
If it has a velocity ,/3gr at the highest point, then the ratio of the respective tensions

in the string holding 1t at the highest and lowest points 1s

SAHK B0S w¥ S0 T PgRESL ZONS ALY SYTTE SrGeS Aol

Do ITEW. TP (500 2olided) S & S JIXW /3gr DA &) b, VoS ©
S5 GNP (H0R SHOCKN EVX PP B oIS & S $00) SIgu Ay WS

oot

T
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Options :

4 :3
136

3:4
72 B

1:4
3.

392
4 %

Question Number : 89 Question 1d : 7196502009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An elevator can carry a maximum load of 1000 kg 1s moving up with a constant speed
of 2 m/s. The frictional force opposing the motion is 2000 N. The minimum power
delivered by the motor to the elevator 1s

(Assuming g=10 m/s”)

o OF 1000 kg 505 200e9e8* 2 m/s DODS Hiswes” DS EBentoob. TP SOTQ)
$3DBENS), Does 2300 2000 N. 28 0gS OGBS S DD WolsED AR FS0T350
(=10 m/s? SXET) &)

Options :

18 kw
1. %

24 kw
2.

20 kw
3 %

26 kw
4 %
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A force F= (3.1r2 N]i +(4N) j, (where x is in meters), acts on a particle. Assuming

that only kinetic energy 1s changed the net work done on the particle as it moves from

position {21 +3j}m to [31’ +1j]m

w8 oS0 F=(312N)i +(4N)), @G X DOES b)) af s P
DAIPeDWENIR. (BRES SO SIP0l EPUeY, BN & Seaadld [2? +3 j]m

PS50 S008 [ 37 +1 |11 FSL0K SO0, TP I00eES DS D,

\ )
Options :
1017
| ®
1517
8
20]
3. %
251]
4 =
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Consider a two block system having masses Ma = 3kg and Mg = 2kg, as shown m the
figure. If block A 1s pushed towards the centre of mass through a distance 200 cm., by
what distance should the block B be moved so as to keep the centre of mass at the

same position.

DOSHE IPOKD A HOCH B oH Tl BINO UK, ENZoDHL0 SERNT
Ma = 3kg 00050 Ma = 2kg 50 Soth B30 Sg0:50 Bu§'eb. By A © ¢ SS50°8
30550 T%) 200 cm EPSS50 S, 9D TIE), S50 oGS 6D Botiond) S
oGl By B R oo irdo 2380,

Options :

200 cm

300 cm
2.¢

130 em
250 cm

Question Number : 92 Question Id : 7196502012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A M

A force of [ Ti+3])- 5k }N acts on a particle whose position vector is { 1— ] +k ]m.
Find the torque experienced by the particle about the origin in N-m.

A A .J'\] A 4]

PI0eE ( i-j+1{Jn1 P (fo el SeaadoD (?i+3j—5k]N WO RAIFHeSNEID. BoNS
AP Lolad) (Vot® & SE3ad) DI Dol a&uo&mﬁ& E\gﬂn‘iﬁﬁn Dewsd N-m o odotd

Options :

~

T
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21+123+10k

]. ®

31+10j+12k
2. %

10i+12 j+2k
3=

12i+10j+2Kk
4.

Question Number : 93 Question Id : 7196502013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :

A damped oscillator consists a mass-spring system with mass 2 Kg and spring

constant of 10 N/m. The damping force 1s given by —b(%} where b = 280 g/s. The

th
time required for the amplitude of the oscillations to reduce to one-fourth [—] of its

mitial value 1s:

(Assume M2 =0.7)

o OSBN EOEINES” BS508-23900 SgVW ¥OAWod. T $S30°8 2 Kg 0080

dx
Q)90 VT80 10 N/m. 9580 20050 —b(a]n" oWk, 85 & b = 280 gfs.

900 LS DO GO FoaS DS [ % } 5 Soth) ©G50E D T Vot

(M2 =0.7 ©3H%0et%0)

Options :

14 s

] =

20 s
2.

28 8

~

T
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Question Number : 94 Question Id : 7196502014 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

The escape velocity of a spherical planet of radius R and density p 1s V. If the radius
of this planet 1s changed to 3R and density i1s changed to 3 p, then the escape velocity

of the planet will be changed to

a8 T'9°5°0 (300 Q0% aPgPda50 R <0000 o@D p 0wd tPd alwdy, Do oo
V. 283¢ (i Q%) aPgPgaid 3R S50 000 FPofBd 3 p JK Sr0yItonsd, &
QE’J"Q Cﬁ.l.)g&. DEPORS o3d0eS” ET :Qfli“d.)g

Options :

9V

32V

2. %

23 V
} &

343 WV
4.
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A wire of 2 m has its one end fixed to a rigid support and a mass of 4 kg 1s suspended
from the other end. If the radius of the wire 1s 0.2 mm. find the extension produced in
the wire.

¢ Neglect the mass of wire

e Assume g=9.8 m/s’

e Y =09.8 x 109 N/m?

2 m P OIS w¥ & GIE), WG By BTP0odS 2o DOAINE WIGD 4 kg
(56550°865" SrEHADIGESD. B G, T5FSK 0.2 mm Sod & SKES’ KOF Fotse
o O S30°80 EDE Iool
o g=98m/s? m &lrosos
e Y=98x10""N/m’

Options :
1
— (111
T
|, ®
2
— C111
T
.V
— Gl
7 #
8
— CI11
s
4 R

Question Number : 96 Question 1d : 7196502016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Select the mncorrect statements from the following:

& §o8 TEIS" B HOTHIG & QoS0

Options :

~

T
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Bunsen burner and sprayers work on Bernoulli’s principle

B0DYS RGO SHOAKN D0y HOLESN B3TYO WrGo P HABFOW

1 ®
Blood flow in arteries 1s explained by Bernoulli’s principle
BNV B8 DVGeID 2307) O Jrgoed” DeS0oudsin)
i .
A siphon works on account of atmospheric pressure
TPES5GE Do o5& (on account) HIFS(siphon) DI
7 %
Relative viscosity of blood 1s always constant in humans
S80S S¥o FDE 2,56 DY BTP Polwod
4.«

Question Number : 97 Question Id : 7196502017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Specific heat of an ideal gas at constant volume C and at constant pressure C,are

related to universal gas constant are as

o 0583 O%V6Y) Y DS HOSHBST LD S DBYFPAD C, HOOK HE HESSN S¢ DIYHID
Cp ©00d & Dold & O Ay DYy O PoPeSne’ @) DEWONS Vool SO

a)otPOW

Options :

~

T
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Question Number : 98 Question Id : 7196502018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

A body cools down from 75 °C to 70 °C 1 time (At ). from 70 °C to 65 °C in time
(Ar,) and 65 °C to 60 °C in time (Ar;). The correct statement according to

Newtons law of cooling 1s

28 S0 75 °C Sl 70 °C &rdS% (Af) 005, 70 °C ok 65 °C % (A1)
005 NOGKN 65 °C Dol 60 °C K (Aty) PSS WHL2000e0GS0 WOND SPglom
350558 D0 Do HOGS HES (statement )

Options :

AL, > AL, >AL,

1 #

At <AL, <AL
2.¥

At =At, =Al,
3. %

2At = At > At
4 R
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1 gm of water at 100 °C. i1s completely converted to steam at 100 °C, occupies
1800 cc. The mncrease mn the internal energy of the molecules 1s:

(take the pressure = 10° Pa, Latent heat of vaporisation (L) = 540 cal/gm.1 cal =4.2 J)

100 °C &FdS 3G o)) 1 gm A B 100 °C SG Porr A SLOP aS3C0 yBed
1800 cc DOSDOSIPES0E SEReDeR). & ) BEHL CINE), WP F5¢5° Hordie
(S0 = 10° Pa, e7& eSS ¢0@FQo (L) = 540 cal/gm, 1 cal = 4.2 J ™ 308 $ow)

Options :

2088 J
1. ¢

2488 1]
2. ®

21781
3%

2218 )
4, ®

Question Number : 100 Question Id : 7196502020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two cylinders A and B of equal capacity are connected to each other via a stopcock.
Cylinder A contams an i1deal gas at standard pressure Po. The cylinder A & B are in
thermal contact with a reservoir at temperature T. The stopcock 1s suddenly opened.

After the gas reaches equilibrium the pressure P 1s related to the original pressure Po

bv

DTS W$gege (0 Totdd JPren(10edy) A 00N B almrded” a8td a8 Jaydd
20T DP0N0eS” SLDNEHT®) OW. DVSIes s Po o5& o A &8 @03 TPON0H)N
5o, A 00K B Jraren T & I& &) 0eorioidued” & Dozootso(thermal

contact) ¢ &) . Ceoydo eIOEER eréla;_’wo& AT TP K}ﬁ)@“@@é D0
BT Dde P PR e Po © $0dg Do2otde

T

Options :
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P=—P,
1.¢ 2
P=P
7 W
P=gE
3 ®
P=Plog2
4 %

Question Number : 101 Question Id : 7196502021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A bat 1s moving at 10 m/s towards a wall and sends a sound signal of 6.6 kHz towards

it. On reflection. it hears a frequency f'. Find the value of /.

(The speed of sound = 340 m/s)

25 Nedyoan 10 nv/s SIS0 w8 TEIYIE DOlredr 6.6 kHz ﬁ?és@égﬂw (o d20
DeIFON TG B0, HTESESe DobS BT & HDYVMD DI F0 FISD 1.
W [ DS ST S0l

(©g Jisio = 340 m/s)

Options :

2. ¥

7.1 kHz
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Consider a glass and water interface. If a light ray incident at the glass water interface

with an angle of ‘7" and the ray emerges parallel to surface of water. what is refractive

index of glass?

P2z D003 A6 @yl BV D01’ D8 SNSRI, &3 Goyl BLAND 28 0B

8023350 T §'Eaai 3¢ DBSo Wod O GHOBLPISE DiTPoBGLNP 205rPBDoNR. & P2

G008, S8eSaSS (LESalw
Options :
|
| %
1.5
2 B
A
SIn 7
3, ¥
sin 7
4 &

Question Number : 103 Question Id : 7196502023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A light ray through a glass prism of angle 60° under goes a minimum deviation of 30°.

What 1s the speed of light in the prism?
(Assume ¢ = speed of light in air)

w8 o oz 60° HLE Se FONS Pz HLESN Kot NOTTHoISYYW & o

otio I, LR HVOII0 30°. 0w rez DHEESD &' 5% a¥tfo o
(€ = 5°03 I35 PO OHHT0)

Options :

(35 N e

2

2.¢

~

T
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Question Number : 104 Question Id : 7196502024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two 1dentical light waves, propagating in the same direction have a phase difference

O . After they superpose. the mntensity of the resulting wave will be proportional to

Gotd) V0SB 570D Blorren 2.8 OIS LOLPHIr “J 7 G7PeIE0D EDaDHS) D). & Totld
Fo QoL GErgloEn MedS S 300, JO0E FoBAIG A0S
ORVSENVEATS TAVS IV RLAN YA

Options :

cos (5)
. %

cos (0/2)
2.

cos” (6/2)
3.¢

Y i

cos” (0)

4 R

Question Number : 105 Question Id : 7196502025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

An electric dipole is placed in a uniform electric field. Assuming the angle between

the electric field and dipole axis 1s 45°, the dipole will experience

o DD BIEISEFSHESV(EAS) HHOD DS B0t PoSWESE. D3 FLHS50SK
50050 BFS GRS SoS500 D 45° BREIS FAS P

T

Options :

collegedunia:s

India’s largest Student Review Platform




a force that will displace 1t in the direction of the field

ig&%@‘s AL ?cﬁ@oéo 505&)&;’}3(’? s &JU‘@&

1. ®
a force that will displace 1t 1 a direction opposite to the field
EBOFN SB0POIS °Q Pdtfodo WoldIEW &8 W)
2. ¥
a torque which will rotate it without displacement
Fodgdodo WoldowdSole® TPIR B & 200K 87°a08300-5
3. %
a torque which will rotate 1t and a force that will displace it.
TPUR BR)) &8 200051 TP SHO0SN FPigfodo Woldod s WELPR),
4 &

Question Number : 106 Question Id : 7196502026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

The equivalent capacitance between points P and Q n the following circuit 1s

&8 8oB SLODEE P 005 Q BotoHO 55 KO Sog ESoehn
2“\'/ \ 4pF
4 j Q
z“g\ /‘ AuF

Options :

2 nF
1w

4 pk
7 R

~

T
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Question Number : 107 Question Id : 7196502027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A metal wire carries a charge of 1200 C in 20 minutes. If the area of the cross-section
of the wire is 25 mm? and the material of the metal contains

6.0 x 1072 free electrons/cmy’®, the drift velocity of the electrons in the wire is

w8 ST 5 20 APOS” 1200 C IS0 SO0 God. & & agy SSgN®
JPOgED 25 mm* HOOKN & S HEPGSN SNl DY POFTIDL Doty
6.0 X 10722 Qogahen / em?, 90w & SKeS’ Gols DOFIOL DVSS(drift) SeisSn

Options :

4.9 x 10° m/s

| ®

42 x10°m/s
2.

4.6 x10°m/s
3. ®

4.5 % 10° m/s
4.%
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Find the current I in the circuit below that flows through 20 £ resistor.

808 JPOS gD 300 2002 AG'BSW Kot DSB8 D HaIErSw (current) I

8087 obe.
Options :
EN
3
1. %
ol
3
2.V
2t
3
3 R
23
—A
4. %

3000
ARG
200
e :
- E AAA
Ay 200

Question Number : 109 Question Id : 7196502029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the case of a moving coil galvanometer. the deflection is

500 S5 S8 MPURgT DK SRS’ BDIGID DS

Options :

~

T
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non linearly proportional to the current

DB DIV ONT SPDAPSBS" 2)olitdd

1%
directly proportional to the current
@@55& VS S DFoeT Hotod
2.
directly proportional to the product of the current and the sine of
the angle of deflection.
DD OGN DD (sine) GTwEy, DA el ), 2K
" DS BP0 af)ododd
3.
mversely proportional to the current.
@Cﬁ)gé& DS S DP0eS oHotNod
4.%

Question Number : 110 Question Id : 7196502030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Consider a long straight conducting wire. The magnetic field is determined as B at a

distance of 5 cm from the wire. The field at 40 cm from the wire would be

2.8 FUIS SI) 0 I8 SN Sk, S8 A1 Dol 5 cm Grde 3G (10 2ollad) S
WONF oS B B P A0r0olenidd @0 6t (1 ek 40 cm GrGeS (10 2oliad)
3G oHole WONFY 0 ELIND ST Jol

Options :
4B
| ®
B
2
7 ®
L
8
3.
B
4. ®

~

T
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Question Number : 111 Question Id : 7196502031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

In the magnetic meridian of a certamn place, the horizontal component of the earth’s

W, - . ; . :
magnetic field is — G and the dip angle of a magnetic needle is 30°. What is the
3

magnetic field of the earth at this location?

Bl D00 DO GO0 e DSFBS TS ZIFPOADLF S FE dda VPSS
ﬁ

Wi -G, H00 SOHFt WD g eIFSsme 30°. ¢ PO 3O

BIPLOF), ot S0 ots?
Options :
04G
1. ®
02G
2. %

-3
3.¢
2
24
)
4 B
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The magnetic flux linked (in Weber) with a coil of resistance 10 € is varying with

respect to time ‘t” as @ = 4t> + 2t + 1. Then the current in the coil at time t =1 second

1S

Wl O b T TGS 10 Q 5005 SIS SHVeTVeDS ALY
)ErS(F206 &) FOSD ‘1 €8 P =47 + 2t + 1 PFES0 SE0eed. WO Lo

t =1 %6 u‘.’a@ & ¢3¢ \:)J@ff? @555"0\3 @Cﬁ)gﬁg )

Options :

05A
1. ®

2A

2.

1.5A
3.%

1A
4.

Question Number : 113 Question Id : 7196502033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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The core of any transformer 1s laminated so as to

E)Gégsvuef oé)oa §6 D @5@0(@&){3@ WO 23S

Options :

reduce the energy loss due to eddy currents

G DD DaTPeo & SO0 48 JPren ShHSPow

1.¢

make 1t light weight
TP, 00y 2080 Wokcio

~

T
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make 1t robust and strong

TR, WYleadoor 2500080 HEIP HoNGo
3 R

increase the secondary voltage

(T€3 S@B‘Scﬂ Dowleo SO
4. %

Question Number : 114 Question Id : 7196502034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let frequencies of green light, infrared light. radio wave and blue light are

V,.V,, v; andv, respectively. The correct statement is

©500W) 209, DOE SP0ed, OGOIP GlolPen DO VO Gofh o Gasy,
FSEIToL SERMP 1,V V3 0050 v, . DOGVS HBFESS
Options :

I"1 >V, > 1’3 3:‘1-1’_1

1. %

1"’4‘ :}1-;3 ey I-‘jl ;lrl
2, &

Vy> V> V>V,
A g

Vi SPs S Vo >y
4. %

Question Number : 115 Question Id : 7196502035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (
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A hydrogen atom with a velocity ‘V’ absorbs a photon of wavelength 1650 A and

stops. If the mass of hydrogen atom is 1.6 = 1072 kg. the value of V is
(use h=6.6 » 1073* J- sec)

08 TEES DOSTY V' otS HOTBIR 1650 A SolS DI KO FEFDHS
TR SOFOWD. TEBR DSTEded) By B850 1.6 x 107 kg, wond V
DLVS

(h=6.6 x 107* J- sec &HAIPHowSol)

Options :

2.0 mv/s
2.5m/s
1.5 m/s

3.0m/s

Question Number : 116 Question Id : 7196502036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The shortest wavelength in the Balmer series of hydrogen atom in terms of Rydberg

constant Ry 1s

3G 260 DOUED G DS e%00 FES af)ole SV Boti FVgSn OG0 VTe8e Ry

Options :
4
RH
1. v
2
RH
2. 8

~

T
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SR,
3 W
1
Ry
4 #

Question Number : 117 Question Id : 7196502037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A radioactive sample weighs 1 gram at t =0. The sample decays to 0.5 g by t = 1Hr.
At this time (t = 1 Hr). another 0.5 g 1s added to the sample. At what time after t = 0,

the radioactive sample is reduced to 0.1 g?

0 t =0 IS¢ 28 BEAIrErOyE Vg Srme aluy $S50°8 1 Pad. &l o) PO
(t=1 Hr) $0°8 Srae 0.5 g 0% S0HS50 ©9ted. @ Foo (t= 1 Hr) $6, & Haed
SRPTED SHOCINE 0.5 g SHPTD &SP SOVT. o t = 0 ST oo LIS
BEOIFEPOE S 0.1 g § SArend.

Options :
2 (n(2)
1 B
10
(n(2)
2. %
(n(5)
(n(2)
3 ®
(n(10)
(n(2)
4.4

Question Number : 118 Question Id : 7196502038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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To operate a n-p-n transistor in active region. its emitter-base and collector-base

junction respectively. should be

a8 n-p-n LPNVAD SAFEL VB DAV, T GEPES-eimde Dok SO
803~ Srdo Vol S éo& SIANS o) aﬁ)oﬁ“@

Options :

reverse biased and reverse biased

M%ﬁééx@"’ o0OOSW eﬁﬁava’égoﬁm‘j‘
], ®
forward biased and forward biased
;’g)ﬁ‘ra’é&o&w@‘ 300030 HE %§&o$13£5‘
forward biased and reverse biased
@5§§&ﬁb€§ 0OCW @6‘%@5}3@5‘
3. o
reverse biased and forward biased
(3Ye] é§&oﬁw¢5“ 300050 DHE «55&95»@5"
4 %

Question Number : 119 Question Id : 7196502039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The minmmum number of 2-mput NAND gates required to implement a NOR gate

28 NOR wrg8anad 003ouold $00 Q) 2-80)8 NAND orioren @s08:80

a)S°0N

Options :
2
I, %
3
2R

~

T
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uh

Question Number : 120 Question Id : 7196502040 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

For practical application modulation index

& IGEREH) § ONIGTPOS” afolte sSI°EIZBNN KO0

Options :

can take any value

DBV DS FOO oS
1. =

should be less than 100 %

100 % Zoé3 e‘.‘asfoa,é oot
2.

should exceed 100 %

100 % %0 0o® oo
3. %

exactly 100 %

100 % DOYBolP oHotO
4 #®

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Chemistry

71965043
4

Online
Mandatory
40

40

40

Yes

1
71965043
Yes
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Question Number : 121 Question Id : 7196502041 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A): The effective nuclear charge experienced by the outer shell electron
1s greater than that of inner shell electron
Reason (R): Shielding by the inner shell electron causes reduced attraction

between the nucleus and outer shell electron

DBBID (A): Ve S SoliTado WodGESY DUFINLET?) 238N0 WuFIdL
2 280y ISP &obwold.

»0eao(R) : DO 50 0oS'D NDOFINLL SSWoer DIV 2rrgElES0S'®
NOFIRON SoliTus g w¥TeDd SHraw

The correct option among the following 1s

& S0l DRYFUS VOGVID

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)
(A) DO, (R) 00SB 000 (A) 50 (R) D000 0503

1 %

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
(A) VIR, (R) D& 0003w (A) 50 (R) D0QS De50es 570

2. ®
(A) 1s true but (R) 1s false
(A) D03 5°R (R) 003& o0
3. %
(A) 1s false but (R) 1s true
(A) 0038 5280 2R (R) 00
4.v

Question Number : 122 Question Id : 7196502042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform




For which of the following cases, the effect of Heisenberg uncertainty principle has

significant consequences?

Sl PUS BID TVNWO BIBPBBY VONSID  DETISD Ay, FS0&ZS

DOETSTN GolIPON?

Options :
An object of mass of 107 kg

10 kg $530°8 K0 S0P

R
An electron of mass of 9.11 x 10~ kg
9.11 x 107" kg &550°8 50 28 QOF99
2. ¥
A golf ball of mass 10 g
10 g $550°8 (50 a8 (TON 200
3% '
A football
¥ QLS
4 ®

Question Number : 123 Question Id : 7196502043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Lithium and beryllium have diagonal relationship respectively with

OBONe 005N 30D0Ne 5E Dozvodio o3eded” OO GolIra) SEIT

Options :

Sodium and Calcium
VGO SHOOS0 ?egoﬁao

~

T
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Boron and Carbon

25'0°R 000K STy®
2. %
Potassium and Calcrum
FEIP3000 20005N SPOI0A%e
3. %
Magnesium and Alumimium
30(1) 320500 SO0 VLI NIOD0
4.

Question Number : 124 Question Id : 7196502044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks :
The element with atomic number 61 belongs to which group?

DOS7ED Dog 61 (90 Sorewse ) (3PS50 Wotoeol

Options :

Transition element

mégnﬁ cﬁl}“ﬁ.)ga
] ®
Lanthanoids element
RS P
2.¢
Actimoids element
w83 Sruo
3 B
Maim group element
é@"oﬁ {jPKD oDPLS0
4, ®
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Question Number : 125 Question Id : 7196502045 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following species has square planar geometry?

&8 500 TPUS G Db e5°Co RS S

Options :

CF,
1. &

BH,

2w

SF,

IF;
4.

Question Number : 126 Question Id : 7196502046 Question Tyvpe : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Calculate the formal charges on each atoms in the following Lewis structure of O3

molecule

&8 50 G3gEGE LIPOIPR A0t O3 @Eeg) GIE), O DESTEDDHR) PGPS Sddordd
G5y oxdole.

@) 2

Options :
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(O': 1), (O?: +1), (0*: 0)

(0":=1), (0% :0),(O’:=1)

(O'': +1), (0% : —1), (0*: 0)

(O: +1), (0%:0), (O*: 1)

4.

Question Number : 127 Question Id : 7196502047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : (

335 gm of a gas 1s contained in a 50 L container under 8.2 atm pressure at 27 °C.

What 1s the name of the gas?

27°C &, S0 L rE<S" 335 gm ar0ined) 8.2 atm &S 856 &8 ¢ 0D & TP

{
D0 D0ES?
Options :
He
], ®
Ho>
7 W
Na
1 #®
Ne
4. <

~

T
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Question Number : 128 Question Id : 7196502048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A mixture of nitrogen and water vapor 1s admitted to a flask that contamns a solid

drying agent. Immediately after admission; the pressure in the flask 1s 760 Torr. After

standing for some hours. the pressure reaches a steady value of 745 Torr. Calculate

the mole percent of water vapor i the original mixture.

2008 BT SBES0 SO TS TS $0050 G €0 WFDHK IO TobdS ¢
P HisSo 760 Torr, §0) Hobord BERTS 1S HisSo 745 Torr K %00t

oS00 F050 (202336 FRVBSN)S 'R A WO FFS PEPR), BS) ovdole.

Options :

20 %
|, %

10 %
2. %

5 %
3. %

2 %
4.v

Question Number : 129 Question Id : 7196502049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : (

The correct option referenced to the below statements 1s

Statement (1) : In the combustion of methane, water 1s one of the products.

Statement (1) : Combustion of 32 grams of methane gives 18 grams of water.

800 53" SNEDEOLS)Y, VOGS o 2E?
g8g (1) : DS S SrSo DT, B & G550 25 YEID.
P33 (11) : 32 [PSVL W BPIo Wold 18 [PS0L ABID B

Options :

~

T
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both (1) and (11) are true
(1) SHO03W (11) DOID

| ®

both (1) and (11) are false

(1) 003 (11) DOID 5°a)
b

(1) 1s false. but (1) 1s true

(1) DTSR 5760 7R (11) DOID
3. %

(1) 1s true, but (11) 1s false

(1) 003 5°Q (11) DOSE 520
4.¢

Question Number : 130 Question Id : 7196502050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s not proposed by Dalton’s atomic theory?

81 $00 oS GPOR DBSTTED AP PBFAoID o8z O?
Options :

Matter consists of mdivisible atoms.

DTG’ BTy DGSTEVRHLN GotTP0N

All atoms of a given element have 1dentical properties, including identical masses.

28 3D rOe DOSTPEVNHL BTN, LWdg0PEHEN DY NIPdelP &otIPOw
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Compounds can be formed when atoms of different elements combine m fractional
number ratios.
DEI), DFUTFO DFSTEVHLY BS) Do) ANYBS Dotirtle Wodd DaYFTOD

G ERPON
3.¢

In a chemical reaction, atoms are neither created nor destroyed.

DBS537EHEN DYRNeWLIE PR, T*ESo Woliteo PR GO WGgeS" &G

Question Number : 131 Question Id : 7196502051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true for an open system?
3D T AODS 3330 D5°To DO T°gadg

Options :

There 1s an exchange of matter but not energy between the system and the
surrounding.

DORTPL) S0 Sge50%0 SxSg (g0 STONE 2EADBIE TR 3§ S0 YE 2355

1 ®
There 1s an exchange of energy and matter between the system and the
surrounding.
DOVTL o 35030 #8, Gadgo Toter S50 NG WolDEPOW
2. ¥
There 1s only exchange of matter between the system and the surrounding.
DOVTL S0 SgeS0E o5 555 STONE ST 23X HLBIR
3%
There 1s no exchange of matter, but exchange of energy is possible.
$5530 SPONG 2205 O #§ S0 235500
4. %

~

T
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Question Number : 132 Question Id : 7196502052 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

For preparing a buffer solution of pH = 9 by mixing ammonium chloride and

ammonium hydroxide, the ratio of concentrations of salt and base should be
LB =107

OIPIA0Ne $TE SHOOKN BIFNONe FESYGON 5O pH = 9 Ko 2006 Fraeo

OG0 DOTE. WONED LBEISN SHO0KN TCow PEEPINND Jo?
(K, =107)

Options :

) |
10:1

100:1
3. ¢

1000:1

Question Number : 133 Question Id : 7196502053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks :

What 1s the correct order of acidity for NHs, NH;, NH, ?

NHs, NH;, NH; © ©:55%50 Gho&), 00G0S §508 ool

Options :

NH; > NH] > NH;
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NH, > NH;>NH,

2. v
;>NH; >NH;3

3.8
NH;>NH; >NH;

4 &

Question Number : 134 Question Id : 7196502054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement with reference to water and hydrogen peroxide

D50 S0050 TPERS DOFYE 00w HOGVS P53 ) §ol

Options :
Water 1s polar but H>O: 1s non-polar
QL0 BYed BEWaY) S°V HaO2 @985 )eT%eded)

1. ®
Both are polar
Ooldd GYaTPENHEN
2.¥
Both are non-polar
SRR ETARFEVGCIIN) SV
3. %
Water 1s non-polar but H>O» 1s polar
Q0 @G YTPE) 5° Ha O &yareadad)
4. %

Question Number : 135 Question Id : 7196502055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The oxidation states of Rb in RbO» and Na in Na,O» are respectively

RbO, &' Rb 2500050 Nax0» &' Na cdws), @8y38es Leen SE00P

Options :
£ % |
1. ¢
+2 .41
2. %
s W
=
—2;—2
4. ®

Question Number : 136 Question Id : 7196502056 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Borax reacts with conc. HCI to produce a boron containing compound X. Heating X

with CoHsOH converted into Y, which gives greenedged flame. Identify X and Y.

2505 Peé HCI €8° 5855700 X' @03 250700 D), 003 ¢/S08 o8 oo, X' &
CoHsOH 5 36 30500 el Botinie a0 ady Y m Srdiehod. X
S50050 Y 0 00006

Options :

X=H,BO, and Y = (C,H.),BO,

X=H,B0, 50050 Y = (C,H;),BO,
1. v

X =HBO, and Y = C,H.BO,

X =HBO, %005 Y =C,H,BO,
.

~

T
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X =B,0, and Y = (C,H;);BO,

X=B,0, &0a% Y=(C,H,);BO,

X =B,H, and Y =H,BO,

X =B,H, S060% Y=H,BO,

Question Number : 137 Question Id : 7196502057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Among the following, which is metalloid?

&8 800 TS’ BBS Lo B?

Options :

S1

2. %
Pb

3 ®
Ge

4. v

Question Number : 138 Question Id : 7196502058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : (
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Which of the below statements 1s/are correct?
(1) Ozone 1s a toxic gas
(1)  Ozone 1s strong oxidising agent

(1)  Ozone cannot react with unburnt hydrocarbons in air

&5 800 S OGS o3I D?

() 8855 D000

(1)  2e3"Q 200N w8 ¥des 2550
(i) POS &) KBaroientid TG SN &utd Q Wy 2806

Options :
(1) and (11) only
(1) S00asw (11) oﬁﬁgﬁa
1. v
(11) and (i11) only
(i1) 000K (iii) oSS
2. %
(1) and (i11) only
(1) 000K (lii) TP
3%
(1), (11) and (111)
(1), (11) OO0 (111)

Question Number : 139 Question Id : 7196502059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The oxidation states of the won atoms m prussain blue coloured complex formed

during the test for the presence of nitrogen in an organic compound are

$0)5 DEFGotS D SO 0TS ID HOKES' BB DisS P Kot oy ¥

GioCs G VBSTEHL &8585 VLD

Options :

~

T
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+2 and +2

+2 005 +2
1w
0 and +3
0 6050 +3
7 ®
+3 and +2
+3 60k +2
3. ¢
+3 and +3
+3 SO0 +3
4 R

Question Number : 140 Question Id : 7196502060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following reactions will not take place?

&8 $00 IS’ o) S8 235K0?

Options :
Br,. CCl
CH,-CH=CH, —2 4 4
1. ®
ClL,. 1
CHOEOE. = o
1.
HCL, |CH,CO| O,
CH,CH=CH, T 8"
3. v
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CH,CH,COONa Electrolysis

A0S JFNe?
CH,CH,COONa = >

Question Number : 141 Question Id : 7196502061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The weakest base among the following species 1s

& §ob 2L’ WLEPSIS TG0 O

Options :
CH,CH,
| %
CH,=CH"
2. %
HC=C
3. ¢
Ph-CH,CH>
4 ®

Question Number : 142 Question Id : 7196502062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

NaCl and KCl crystallize in FCC structure. Their respective diffraction patterns will
look like

NaCl 300050 KCl e 036388680 30 FCC Q075008 ENERPaw. Jo¢3 D38
HEOD B8 §obd RS BOe® FU SN

Options :
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FCC and FCC

FCC 0a80 FCC
] ®
Simple Cubic and Simple Cubic
PO Ao 2000 PEPSE 200
2.5
Simple Cubic and FCC
P06 o o000 FCC
3. %
FCC and Simple Cubic
FCC 550050 Fordes D00
4.+

Question Number : 143 Question Id : 7196502063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

At 300 K, a decimolar solution of K, [FE(CN ) 6] dissociates to 50 %. The osmotic

pressure of the solution is

300K &6 K,[Fe(CN), | Gdarers graseso 50 % % Oairase Bothatd) ¢ ©ond

& 50 STRNGE Sl Doth?

Options :

12 atm
1.8

7.2 atm
2. ¥

0.6 atm
3, ¥

144 atm
4 ®

~

T
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Question Number : 144 Question Id : 7196502064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following produces basic aqueous solution?

&t 500 TPUS T8 ROTPDSEIod GHNB Ik Do
Options :

Na,CO,

1. ¢

(NH,),S0,

2. %

FeCl,
3. %

NaHSO,
4. %

Question Number : 145 Question Id : 7196502065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Calculate the pH of the following half cell:
Pt. H2[H>SOs.

-
!

(Given the oxidation electrode potential of the half cell is + 0.3 V)

go& @gm:: Cﬁ))ga. pH AV @éa,oéo&:
Pt, Hy|H>SOa.
(988000 CI0E), e8y806s 0’9 éovoS +0.3V)

Options :
0.1
| ®
1
2. %
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N

3.

10

Question Number : 146 Question Id : 7196502066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

For a first order reaction, A —» B. logk vs %. curve has gradient of —5000 K. The

activation energy of the reaction in kJ/mol 1s

(R 1s the ideal gas constant)

D0 $e8 $85, A 5B, logk, I © S8 e 9ens —5000 K. 365 aderes 8
kJ/mol &5’
(R = 0007050 Q0°0E0)

Options :

115R
1. ¥

3SR
2. %

29R
3. =

50R
4, ®

Question Number : 147 Question Id : 7196502067 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Gold numbers of protective colloids A, B, C and D are 0.7, 0.02, 0.12 and 0.0047

respectively. The correct order of their protective power 1s

A, B, C 30050 D &3 8% S'gronde (‘3‘%_5 Qo@D SO 0.7, 0.02, 0.12 0008w

0.0047. 8Xes PS0Gg0 DD §30o EO?

Options :

D<A<C<B
| ®

C<B<D<A
2 R

B<D<A<C
3. =

A<C<B<D
4.

Question Number : 148 Question Id : 7196502068 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What 1s P in the following reaction?

Al,0,-2H,0 hot conc. NaOH

£00 S63S P’ DB?

AL,0, -2H,0 ¢ ™% NaOH

Options :

Na, [ Al(OH), |

Na| Al(OH), |

2.¥

~

T
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Question Number : 149 Question Id : 7196502069 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not an allotrope of phosphorous?

&1 §o0 T0S" FOYED EraPotio UG 2B?

Options :
White phosphorous
DY PR g(ﬁ%
1 =
Red phosphorous
I8 PO Q@E)
2 R
Black phosphorous
SQ OO
3
Green phosphorous
SEVSWAUES Qd*&:}
4.9

Question Number : 150 Question Id : 7196502070 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following 1s the most electronegative element?

&8 800 TIPS B3HF 20008 DY ¥ FDNS Sredo
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Options :

O

| &
S

7. ®
Te

3.8
Se

4 R

Question Number : 151 Question Id : 7196502071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following 1ons exhibits color in aqueous solution?

81 88 TS BOTSEIS” GotidS) PEO00 OIS O?

Options :

S¢

e

] ®
N1 e
2.
o
T1
3 &
4 R

Question Number : 152 Question Id : 7196502072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Magnetic measurement indicates that [CD(OHE)E] has three unpaired electrons.

Therefore, the hybridization of the metal in [Co(OH,), | is

[Co(OH,), ] ¢S e 20800 DTSN EiobTOn B WO 089 SOt (DELSLD)

NPT 0. ©0ND [Co(OH, )] Dyeoes” ST Ho8085Es0 0EI?

Options :

sp’
1. =

sp’d
72 ®

dsp’
3 %

Spldl
4.

Question Number : 153 Question Id
Mandatory : No Option Orientation

Correct Marks : 1 Wrong Marks : 0

: 7196502073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

: Vertical

Copolymerization of 1. 3-butadiene and acrylonitrile gives

1, 3-200gRC0NRS SH0050 59T §PO50EG 0 Dol a5 S

Options :

Buna-S
&Dgr\'ﬁ-s

cis-Polyisoprene

&5*?‘@&3’3}‘@5

[
¥

~

T

Is Question
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Orlon

a;g*ﬁ
3. %
Buna-N
&J.‘}g:{ﬁ— N
4.¥

Question Number : 154 Question Id : 7196502074 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following amino acids is/are optically active?
(1) Glycine
(11)  Alanine
(1) Leucine

(1v)  Isoleucine

&3 808 o) OIS" WeTPeD BYeSEn BISEIS(WHES OS°8a5) 5O éiotrron?
D 9
(i) OIS
(il) ©rdS

(Iv) OFLPI

Options :
(1) only
(1) SorBD

(111) and (1v) only

(i) S00a% (iv) e
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(1). (111) and (1v)
(1), (111) HOASW (1v)

(i), (iii) and (iv)
(i), (iif) 0050 (iv)

4 <

Question Number : 155 Question Id : 7196502075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Sulphur containing artificial sweetening agents are

4O Q&é} 5O &ad), 5y €33 So0d) EDNow PP

Options :

Aspartame and Saccharin

e;%foil"@oﬁa 20O FPEOS
W
Aspartame and Sucralose
&?i}iﬁ"@fm 20003W "rmgff )
2. %
Sucralose and Alitame
ESE HOAN ©DE0
3. %
Alitame and Saccharm
e9ET OO PEOR
4. v

Question Number : 156 Question Id : 7196502076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Decreasing order of C-X bond enthalpies of the following alkyl halides 1s

&1 300 BSES WS HFOEOS C-X oo 0K, DoTrOYL &7 5550 Boyel

(i) CH,CH,Br
(i) CH,CH,F
(i) CH,CH,I
(iv) CH,CH,CI

Options :

(1) = (1) > (1) > (1v)

(1) > (1) > (111) > (1v)
2. %

(1v) > (11) > (1) > (1)
] &R

(1) > (1v) > (1) > (1)

4. v

Question Number : 157 Question Id : 7196502077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Which one of the following reactions gives a primary alcohol as the major product?

&8 806 0 3535" 29500 G IS DA GBS o a8 NI,

Options :

Acetone + methyl magnesium bromide

DTS + 0BG Dby 2ADo DG

1. %

~

T
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Formaldehyde + methyl magnesium bromide

PTG + RS ) 200 850G

2.
Benzaldehyde + methyl magnesium bromide
30eOarG + PO iy AONo & G

3%
Acetaldehyde + methyl magnesium bromide
QPTG + 0BS B 100 8T PG

4.8

Question Number : 158 Question Id : 7196502078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product formed in the following reaction sequence. is

&8 800 SO DONG DTS GBSy 0 NB?

O (i) HBr

(1) Mg , dry ether & %55

=N

(iv) H,O

e

Options :

)

J T
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OIl

2. ®
@io
3.v
O
4 R

Question Number : 159 Question Id : 7196502079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major products P. Q and R in the following reaction sequence, are

&8 §ob STPIHUES 2SN VIS 5Y5), 500 P, Q 50005 R 0% Buoi)eso.
O

B8
(1) CH;Mgl, ether (1v) HBr, (CgH5CO),0, (v) NaCN
> P > Q ¥ R
(ii) H, O vi) H® 1,0, A
(111) 20% H3PO,4., A
Options :
P Q R
CH, CH,Br CH,CO;H
1. ®
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P Q R

CH3 CH3 CH3
Br f HO,C {
2.¢
Q R
CH; CH, CH,
ffBr ffCOzH
3 &
P Q R
CH3 CH3 CH3
i ‘Br i CO,H
4 R

Question Number : 160 Question Id : 7196502080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An unsymmetrical organic compound decolorized one mole of Br, in CCl, and

released N, gas upon reaction with HNO, . The compound is

0 OFHS K Dl Ssw, CCl, &° %00 &) 2.8 IPS B, S 2580 3008 S00050
HNO, & 585300 N, aPoSna aXacse dkuol ons & Dy #as

Options :

~

T
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3.4

CH,CH,CHj
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